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Question Id : 9209068501 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lisutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
government responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central povernment, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected government. Hobbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
povernment, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and Dhstriet Cricket Association, again because of the absence of the L(3's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BSES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without eommunicating the decision of the
LG for his Views. The only consolation for the elected government was the court saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that beyond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issuez of the wvarious
notifications published by Delhi government in exercise of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled “services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090633601. 1
92090633602. 2
92090633603. 3
92090633604. 4

Question Number : 2 Question Id : 9209068503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090633605. 1
92090633606. 2
92090633607. 3
92090633608. 4

Question Number : 3 Question Id : 9209068504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090633609. 1
92090633610. 2
92090633611. 3
92090633612. 4

Question Number : 4 Question Id : 9209068505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090633613. 1
92090633614. 2

92090633615. 3
92090633616. 4

Question Number : 5 Question Id : 9209068506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090633617. 1
92090633618. 2
92090633619. 3
92090633620. 4

Question Id : 9209068501 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lieutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
povernment responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central government, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected povernment. Robbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
government, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and District Cricket Association, again because of the absence of the LG's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BRES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without communicating the decizsion of the
LG for his Views. The only consolation for the elected government was the eourt saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that bevond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issues of the wvarious
notifications published by Delhi povernment in exercize of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled ‘services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090633601. 1
92090633602. 2
92090633603. 3
92090633604. 4

Question Number : 2 Question Id : 9209068503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090633605. 1
92090633606. 2
92090633607. 3
92090633608. 4

Question Number : 3 Question Id : 9209068504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090633609. 1
92090633610. 2
92090633611. 3
92090633612. 4

Question Number : 4 Question Id : 9209068505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090633613. 1
92090633614. 2

92090633615. 3
92090633616. 4

Question Number : 5 Question Id : 9209068506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090633617. 1
92090633618. 2
92090633619. 3
92090633620. 4

Question Id : 9209068501 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lieutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
povernment responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central government, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected povernment. Robbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
government, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and District Cricket Association, again because of the absence of the LG's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BRES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without communicating the decizsion of the
LG for his Views. The only consolation for the elected government was the eourt saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that bevond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issues of the wvarious
notifications published by Delhi povernment in exercize of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled ‘services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090633601. 1
92090633602. 2
92090633603. 3
92090633604. 4

Question Number : 2 Question Id : 9209068503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090633605. 1
92090633606. 2
92090633607. 3
92090633608. 4

Question Number : 3 Question Id : 9209068504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090633609. 1
92090633610. 2
92090633611. 3
92090633612. 4

Question Number : 4 Question Id : 9209068505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090633613. 1
92090633614. 2

92090633615. 3
92090633616. 4

Question Number : 5 Question Id : 9209068506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090633617 1
92090633618. 2
92090633619. 3
92090633620. 4

Sub-Section Number : 2
Sub-Section Id : 920906272
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209068507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Make a Meaningful paragraph:
(A) A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

(B) The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

(C)  To show this fire and brilliance it must be cut & faceted with pinpoint accuracy.

(D) Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

(E) An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1) (E).(O), (B). (D). (A)
2)  (E)(B), (D). (C). (A)
(3) (B (C), (D). (E). (A)
(4)  (B). (D). (C). (A). (E)

Options :

92090633621. 1
92090633622. 2
92090633623. 3
92090633624. 4

Question Number : 6 Question Id : 9209068507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Make a Meaningful paragraph:

(A)

(B)

(C)
(D)

(E)

A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

To show this fire and brilliance it must be cut & faceted with pinpoint aceuracy.

Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1)
(2)
(:3)
(4)

(E). (C), (B). (D), (A)
(E). (B). (D), (C), (A)
(B). (C). (D), (E), (&)
(B). (D), (C), (&), (E)

Options :

92090633621. 1
92090633622. 2
92090633623. 3
92090633624. 4

Question Number : 6 Question Id : 9209068507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Make a Meaningful paragraph:
(A) A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

(B) The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

(C)  To show this fire and brilliance it must be cut & faceted with pinpoint accuracy.

(D) Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

(E) An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1) (E). (O), (B), (D), (A)
2) (B, B), (D), O, (4)
(3)  (B). (C), (D), (E), (A4)
(4)  (B), (D). (C), (&), (E)

Options :

92090633621. 1
92090633622. 2
92090633623. 3
92090633624. 4

Question Number : 7 Question Id : 9209068508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism {(2) Impartiality
(3) Partiality (4) Rough
Options :

92090633625. 1
92090633626. 2
92090633627 3
92090633628. 4

Question Number : 7 Question Id : 9209068508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism (2) Impartiality
(3) Partiality (4) Rough
Options :

92090633625. 1
92090633626. 2
92090633627. 3
92090633628. 4

Question Number : 7 Question Id : 9209068508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism (2) Impartiality
(3) Partiality (4) Rough
Options :

92090633625. 1
92090633626. 2
92090633627. 3
92090633628. 4

Question Number : 8 Question Id : 9209068509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Potboiler (2) Pork
(3) Prescient {(4) Primadonna
Options :

92090633629. 1
92090633630. 2
92090633631. 3
92090633632. 4

Question Number : 8 Question Id : 9209068509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Pothoiler (2) Pork
(3) Prescient {4y Primadonna
Options :

92090633629. 1
92090633630. 2
92090633631. 3
92090633632. 4

Question Number : 8 Question Id : 9209068509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Potboiler (2) Pork
(3 Prescient (4) Primadonna
Options :

92090633629. 1
92090633630. 2
92090633631. 3
92090633632. 4

Question Number : 9 Question Id : 9209068510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(

1 There is nothing that is more engaging than
(2

)

) I do nothing more engaging other than
(3) I know of nothing more engaging than

)

(4 There is nothing engaging for me other than

Options :

92090633633. 1
92090633634. 2
92090633635. 3
92090633636. 4

Question Number : 9 Question Id : 9209068510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(1) There is nothing that is more engaging than

(2) I do nothing more engaging other than

(3) I know of nothing more engaging than

{(4) There is nothing engaging for me other than
Options :

92090633633. 1
92090633634. 2
92090633635. 3
92090633636. 4

Question Number : 9 Question Id : 9209068510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(1) There is nothing that is more engaging than

(2) I do nothing more engaging other than

(3) I know of nothing more engaging than

(4) There is nothing engaging for me other than
Options :

92090633633. 1
92090633634. 2
92090633635. 3
92090633636. 4

Question Number : 10 Question Id : 9209068511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE
Options :

92090633637. 1
92090633638. 2
92090633639. 3
92090633640. 4

Question Number : 10 Question Id : 9209068511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE

Options :



92090633637. 1
92090633638. 2
92090633639. 3
92090633640. 4

Question Number : 10 Question Id : 9209068511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE
Options :

92090633637. 1
92090633638. 2
92090633639. 3
92090633640. 4

Question Number : 11 Question Id : 9209068512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface area (in em?) of a cuboid with dimensions 3em, 4em and Sem is

(1) 47 (2) a0
(3) 60 (4) 94

Options :

92090633641. 1
92090633642. 2
92090633643. 3
92090633644. 4

Question Number : 11 Question Id : 9209068512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The surface area (in em?) of a cuboid with dimensions 3em, 4em and Sem is

(1) 47 (2) a0
(3) 60 (4) 94

Options :

92090633641. 1
92090633642. 2
92090633643. 3
92090633644. 4

Question Number : 11 Question Id : 9209068512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface area (in cm?) of a cuboid with dimensions 3cm, 4em and Sem is

(1) 47 (2) B0
(3) B0 4y 94

Options :

92090633641. 1
92090633642. 2
92090633643. 3
92090633644. 4

Question Number : 12 Question Id : 9209068513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2 sin 26 = 1, then the value of tan20 + cos20 1s

(M =B (2)

[
—

& 5

(3) (4)

|

5
23
Options :
92090633645. 1
92090633646. 2
92090633647. 3
92090633648. 4

Question Number : 12 Question Id : 9209068513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If 2 sin 28 = 1, then the value of tan20 + cos20 1s

a1y =3 (2)

|

23

1.3

(3) .3 (4) 28
23 5

Options :

92090633645. 1
92090633646. 2
92090633647. 3
92090633648. 4

Question Number : 12 Question Id : 9209068513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2 sin 26 = 1, then the value of tan28 + cos20 1s

(M =B (2)

|

2.3

2.3

o (4) m{
23 5

Options :

92090633645. 1
92090633646. 2
92090633647. 3
92090633648. 4

Question Number : 13 Question Id : 9209068514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity sold at 18% profit is
(1) 250 kg (2) 300 ke
(3 500 kg (4) 750 kg
Options :
92090633649. 1
92090633650. 2
92090633651. 3
92090633652. 4



Question Number : 13 Question Id : 9209068514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity =old at 18% profit i=

(1) 250 kg (2) 300 kg
(3) 500 kg (4) 750 kg
Options :

92090633649. 1
92090633650. 2
92090633651. 3
92090633652. 4

Question Number : 13 Question Id : 9209068514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity sold at 18% profit is

(1) 250kg (2) 300kg
(3 500 kg (4) 750 kg
Options :

92090633649. 1
92090633650. 2
92090633651. 3
92090633652. 4

Question Number : 14 Question Id : 9209068515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 years with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090633653. 1
92090633654. 2
92090633655. 3
92090633656. 4



Question Number : 14 Question Id : 9209068515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 years with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090633653. 1
92090633654. 2
92090633655. 3
92090633656. 4

Question Number : 14 Question Id : 9209068515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 vears with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090633653. 1
92090633654. 2
92090633655. 3
92090633656. 4

Question Number : 15 Question Id : 9209068516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do work in 12 days and 24 days respectively. They started working together but
left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

(1) 5 z 7

@ 6 (4) 8

Options :
92090633657. 1



92090633658. 2
92090633659. 3
92090633660. 4

Question Number : 15 Question Id : 9209068516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do work in 12 days and 24 days respectively. They started working together but
left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

(1) 5 2y 7

(3) 6 (4) 3

Options :

92090633657. 1
92090633658. 2
92090633659. 3
92090633660. 4

Question Number : 15 Question Id : 9209068516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A and B can do work in 12 days and 24 days respectively. They started working together but

left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

1y 5 2 7
(3) 6 4 3
Options :

92090633657. 1
92090633658. 2
92090633659. 3
92090633660. 4

Question Number : 16 Question Id : 9209068517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If [ am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3) MNorth (4) South
Options :

92090633661. 1
92090633662. 2
92090633663. 3
92090633664. 4

Question Number : 16 Question Id : 9209068517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If | am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3) MNorth {(4) South
Options :

92090633661. 1
92090633662. 2
92090633663. 3
92090633664. 4

Question Number : 16 Question Id : 9209068517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If | am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3 North (4) South
Options :

92090633661. 1
92090633662. 2
92090633663. 3
92090633664. 4



Question Number : 17 Question Id : 9209068518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP
Options :

92090633665. 1
92090633666. 2
92090633667. 3
92090633668. 4

Question Number : 17 Question Id : 9209068518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP
Options :

92090633665. 1
92090633666. 2
92090633667. 3
92090633668. 4

Question Number : 17 Question Id : 9209068518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP

Options :



92090633665. 1
92090633666. 2
92090633667. 3
92090633668. 4

Question Number : 18 Question Id : 9209068519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will replace the question mark in the given series: 16/3, 8,
12: 18, 2772

(1) 31 1/2 (2) 4012
(3) 31 (4) 40
Options :

92090633669. 1
92090633670. 2
92090633671. 3
92090633672. 4

Question Number : 18 Question Id : 9209068519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will replace the question mark in the given series: 16/3. 8,
12; 18,2772

(1) 31 1/2 (2) 40 1/2
(3) 31 (4) 40
Options :

92090633669. 1
92090633670. 2
92090633671. 3
92090633672. 4

Question Number : 18 Question Id : 9209068519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct alternative that will replace the question mark in the given series: 16/3, 8,
12. 18, 277

(1) 31 1/2 (2) 40 1/2
(3) 31 (4) 40
Options :

92090633669. 1
92090633670. 2
92090633671. 3
92090633672. 4

Question Number : 19 Question Id : 9209068520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Unele (2) Brother
(3) Brother-in-law {(4) Cousin
Options :

92090633673. 1
92090633674. 2
92090633675. 3
92090633676. 4

Question Number : 19 Question Id : 9209068520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Uncle (2) Brother
(3) Brother-in-law {(4) Cousin
Options :

92090633673. 1
92090633674. 2
92090633675. 3
92090633676. 4

Question Number : 19 Question Id : 9209068520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Uncle (2) Brother

(3) Brother-in-law {(4) Cousin

Options :

92090633673. 1
92090633674. 2
92090633675. 3
92090633676. 4

Question Number : 20 Question Id : 9209068521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A) :  The common value of all religion should be taught to the children in our

schools.

Reasons (B) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
{3) {A) 15 true but (R) is false

(4) (A) 1s falze but (R) is true

Options :

92090633677. 1
92090633678. 2
92090633679. 3
92090633680. 4



Question Number : 20 Question Id : 9209068521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Asgertion (A):  The common value of all religion should be taught to the children in our

schools.

Reasons (B) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R} is NOT the correct explanation of (A)
(3) {A) 18 true but (R) 1s false

(4) {A) 1s falze but (R) is true

Options :

92090633677. 1
92090633678. 2
92090633679. 3
92090633680. 4

Question Number : 20 Question Id : 9209068521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  The common value of all religion should be taught to the children in our

schools,

Reasons (R) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the light of the above statements, choose the most appropriate answer from the options

given below ;

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) 15 true but (R) 1s false

{4) {A) 15 false but (R) 1s true

Options :

92090633677. 1
92090633678. 2
92090633679. 3
92090633680. 4

Question Number : 21 Question Id : 9209068522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last 1T :

List I List 1T
(Institute) (Location)
(A} National Institute of Ayurveda (' Chennai

(B) National Institute of Homoeopathy (I} Bengaluru
{() MNational Institute of Unani Medicine (III}) Kolkata
{D) National Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A0, (B)-(ID), (O)-(I1D), (D)-(IV)
(2 (A, (B)-(ID), (C)-(ID), (D)-(IV)
(3 (L-IV), (B)-(11D), (C)-(11), (D)-(T)
@ (A-V), (B)-(ID), (C)-(III), (D)-(T)

Options :



92090633681. 1
92090633682. 2
92090633683. 3
92090633684. 4

Question Number : 21 Question Id : 9209068522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Last I1 :

List 1 List I1
(Institute) (Location)
(A) National Institute of Ayurveda Il Chennai

(B) National Institute of Homoeopathy (I} Bengaluru
{C) MNational Institute of Unani Medicine (11T} Kolkata
(D) MNational Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(1I), (C)-(11I), (D)-(IV})
(2) (A)-(T), (B)-(II), (C)-(1T), (D)-(IV})
(3) {A)-(TV), (B)-(11D), (C)-(IT), (D)-(T)
(4} {A)-(IV), (B)-(IT), (C)-(I1T), (D)-(T)

Options :

92090633681. 1
92090633682. 2
92090633683. 3
92090633684. 4

Question Number : 21 Question Id : 9209068522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match Last T with Last 1T -

List [ List 1T
(Institute) (Location)
(A) National Institute of Ayurveda {I. 'Chennai

(B} National Institute of Homoeopathy (Il) Bengaluru
{C) National Institute of Unani Medicine (III) Kolkata
(I National Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A)-(T), (B)-(IT), (C)-(LLI), (D)-(IV)
(2) (A)-(1), (B)-(I1L), (C)-(1I), (D)-(IV)
(3) (A)-(IV), (B)-(LLT), (C)-(IT), (D)-(1)
1) (A)-(IV), (B)-(II), (C)~(I1T), (D)-(D)

Options :

92090633681. 1
92090633682. 2
92090633683. 3
92090633684. 4

Question Number : 22 Question Id : 9209068523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

institutions.

Statement 11 :  Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement I are true
(2) Both Statement [ and Statement I are false
(3) Statement I is true but Statement [ is false

{4) Statement I is false but Statement I 15 true

Options :

92090633685. 1
92090633686. 2
92090633687. 3



92090633688. 4

Question Number : 22 Question Id : 9209068523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

institutions.

Statement 11 :  Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement I is false

(4) Statement [ is false but Statement I1 1s true

Options :

92090633685. 1
92090633686. 2
92090633687. 3
92090633688. 4

Question Number : 22 Question Id : 9209068523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement [ : Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

Institutions.

Statement 11 : Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement I is false

{4) Statement 1 is false but Statement 11 15 true

Options :

92090633685. 1
92090633686. 2
92090633687. 3
92090633688. 4

Question Number : 23 Question Id : 9209068524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1+ June, 1918 (2) 13* April, 1919
(3) 14t April, 1920 (4) 6% July, 1921

Options :

92090633689. 1
92090633690. 2
92090633691. 3
92090633692. 4

Question Number : 23 Question Id : 9209068524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1#t June, 1918 (2) 13 April, 1919
(3) 14tk April, 1920 (4) 6% July, 1921
Options :

92090633689. 1
92090633690. 2
92090633691. 3
92090633692. 4

Question Number : 23 Question Id : 9209068524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1 June, 1918 (2) 13® April, 1919
(3) 14t April, 1920 (4) 6% July, 1921
Options :

92090633689. 1
92090633690. 2
92090633691. 3
92090633692. 4

Question Number : 24 Question Id : 9209068525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
() Low per capita Income

(D Massive unemployment

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
{4) {A), (C) and (D) only

Options :



92090633693. 1
92090633694. 2
92090633695. 3
92090633696. 4

Question Number : 24 Question Id : 9209068525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
(C) Low per capita Income

(D) Massive unemployment

Choose the most appropriate answer from the options given helow :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
{4) (A), (C) and (D) only

Options :

92090633693. 1
92090633694. 2
92090633695. 3
92090633696. 4

Question Number : 24 Question Id : 9209068525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
() Low per capita Income

(D) Massive unemployment

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
(1) {A), (C) and (D) only

Options :

92090633693. 1
92090633694. 2
92090633695. 3
92090633696. 4

Question Number : 25 Question Id : 9209068526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090633697. 1
92090633698. 2
92090633699. 3
92090633700. 4

Question Number : 25 Question Id : 9209068526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090633697. 1



92090633698. 2
92090633699. 3
92090633700. 4

Question Number : 25 Question Id : 9209068526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090633697. 1
92090633698. 2
92090633699. 3
92090633700. 4

Part B: Puranetihas

Section Id : 920906170
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906273
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209068527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1)  Sadfraevarsda. gymeared amEg
(2)  EudragEeETES: GAETIETe] A6
(3) imdmugeveEdia: StevETEd ameq
(4)  iwdiadrzIEETEy: ANeIEd e

Options :

92090633701. 1
92090633702. 2
92090633703. 3
92090633704. 4

Question Number : 26 Question Id : 9209068527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty SepeTE e e -
(1)  Sadftavearsia: gy aEg

(2)  SudrHgEIEETE: YAETET] qTE
(3)  EudmuAETEETE . SewETE aE
(4)  Eudfradrzemmeda: aaemeETE arE

Options :

92090633701. 1
92090633702. 2
92090633703. 3
92090633704. 4

Question Number : 26 Question Id : 9209068527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(2) eI : TAEHIETed AT,
(3)  iuerayeEnIEEST: SEvEE 9y
(4)  EudroerzaEETEG: SHGREE e



Options :

92090633701. 1
92090633702. 2
92090633703. 3
92090633704. 4

Question Number : 27 Question Id : 9209068528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2. 3, . FEOEEE: ITROH YEET T -
(1)  SefwmeEedE: qaneameEs] a6 (2 4. 500 T8 =Y
(3)  fEdEgemImEE: I (4) #£.9. 5,000 FHa:; @Y

Options :

92090633705. 1
92090633706. 2
92090633707. 3
92090633708. 4

Question Number : 27 Question Id : 9209068528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2i. W, . FeuEEy: ITEE SRS I -
(1)  dedummEeda: qageaeE] amEg (2 .4, 500 9 =Y
(3)  dudrmemarem: Il (4) #£.9. 5,000 FHg: T

Options :

92090633705. 1
92090633706. 2
92090633707. 3
92090633708. 4

Question Number : 27 Question Id : 9209068528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2. 3, . ZemEEd: ITEOE YEwT W -
(1)  SeefuememedE: qaneaEs] a6y (2 34, 500 99 =Y
(3)  dEdrEgemEE: ST (4) .9, 5,000 FHE: T

Options :

92090633705. 1
92090633706. 2
92090633707. 3
92090633708. 4

Question Number : 28 Question Id : 9209068529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mErae fodta od wfes -

(1y =97 (2) =YTE
(3)  FETE (4) Frme
Options :

92090633709. 1
92090633710. 2
92090633711. 3
92090633712. 4

Question Number : 28 Question Id : 9209068529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

merae fodftd od wfd -

(1) =994 (2) =Y
(3)  FEE (4) Frmew
Options :

92090633709. 1
92090633710. 2
92090633711. 3
92090633712. 4

Question Number : 28 Question Id : 9209068529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

merae fodta od wfe -

(1) =994 (2) =Y9e
(3)  FEMTE (4) Fae
Options :

92090633709. 1
92090633710. 2
92090633711. 3
92090633712. 4

Question Number : 29 Question Id : 9209068530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR TAER g e #fe -

(1)  wie: 2 ik
(3) hIH: (4) F4:
Options :

92090633713. 1
92090633714. 2
92090633715. 3
92090633716. 4

Question Number : 29 Question Id : 9209068530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YAAEEaHaR qdE: e i -

(1) e (2)
(3 =M {4y 3l
Options :

92090633713. 1
92090633714. 2
92090633715. 3
92090633716. 4

Question Number : 29 Question Id : 9209068530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
dtaaaaR g e sifE -

(1) e (2) wud:
(3) I (4 4
Options :

92090633713. 1
92090633714. 2
92090633715. 3
92090633716. 4

Question Number : 30 Question Id : 9209068531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feamedera fafa: o -

(1) e (2) Fea
(3)  TEE (4) wosmg
Options :

92090633717. 1
92090633718. 2
92090633719. 3
92090633720. 4

Question Number : 30 Question Id : 9209068531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feramederre ffa: o -

(1) g (2) TeEA
(3) e (4) e
Options :

92090633717. 1
92090633718. 2
92090633719. 3
92090633720. 4

Question Number : 30 Question Id : 9209068531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

feramederre ffa: o -

(1) g (2) e
(3) e (4) wfEmE
Options :

92090633717. 1
92090633718. 2
92090633719. 3
92090633720. 4

Question Number : 31 Question Id : 9209068532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR A g -

(1) et (2) S
(@ =g (4) TR
Options :

92090633721. 1
92090633722. 2
92090633723. 3
92090633724. 4

Question Number : 31 Question Id : 9209068532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR Al g -

(1)  =rrgagtas (2) FEETIEEE
(@ =reErgEgfrEE (4) TR
Options :

92090633721. 1
92090633722. 2
92090633723. 3
92090633724. 4

Question Number : 31 Question Id : 9209068532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

FqEEen fafa: v -

(1) =gt (2) FEETIEEE
(3 =g (4) TR
Options :

92090633721. 1
92090633722. 2
92090633723. 3
92090633724. 4

Question Number : 32 Question Id : 9209068533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frameseRi e FEfa-

(1) a1 (2) =1

(%) I W (4) =i
Options :

92090633725. 1
92090633726. 2
92090633727. 3
92090633728. 4

Question Number : 32 Question Id : 9209068533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feramesTeni e FEif-

(1) E L (2) =4I

(3) T W (4) =i:
Options :

92090633725. 1
92090633726. 2
92090633727. 3
92090633728. 4

Question Number : 32 Question Id : 9209068533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

feramesTnit e R -

(1) CLE (2) ==l

(3) T W (4) =ia:
Options :

92090633725. 1
92090633726. 2
92090633727. 3
92090633728. 4

Question Number : 33 Question Id : 9209068534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STRITIRTATS e T sofaa-

(1) 18 (2) 19
(3) 20 4 21

Options :

92090633729. 1
92090633730. 2
92090633731. 3
92090633732. 4

Question Number : 33 Question Id : 9209068534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SATRUTTRTYTS Sidee TTET J9i-agn -

(1) 13 (2) 18
(3) 20 (4 21

Options :

92090633729. 1
92090633730. 2
92090633731. 3
92090633732. 4



Question Number : 33 Question Id : 9209068534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR Foeeed wrEl 39Egn: -

(1) 18 (2) 19
(3) 20 (4 21

Options :

92090633729. 1
92090633730. 2
92090633731. 3
92090633732. 4

Question Number : 34 Question Id : 9209068535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iy arefgratearEmen: w5t -
(1) 100 (2) 10
(3) 40 4 20

Options :

92090633733. 1
92090633734. 2
92090633735. 3
92090633736. 4

Question Number : 34 Question Id : 9209068535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yFT e refeatEarmen: 5 -
(1) 100 (2) 10
(3) 40 4 20

Options :

92090633733. 1
92090633734. 2
92090633735. 3



92090633736. 4

Question Number : 34 Question Id : 9209068535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FATa e ArefeAa AT wf -

(1) 100 (2) 10
(3} 40 (4) 20
Options :

92090633733. 1
92090633734. 2
92090633735. 3
92090633736. 4

Question Number : 35 Question Id : 9209068536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sy Tyt o sfE -

(1)  wfh @i, (2) afefiE wfeey ————|
(%)  f ey ——————— | (4) = R —
Options :

92090633737. 1
92090633738. 2
92090633739. 3
92090633740. 4

Question Number : 35 Question Id : 9209068536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oo TUHT g AiE -

(1)  wfh Ehesf; ——————— (2) fefi2 wfeey ———— |
(3)  wfE FrEy ———| (4) = eelfn ————————
Options :

92090633737. 1



92090633738. 2
92090633739. 3
92090633740. 4

Question Number : 35 Question Id : 9209068536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty Ty o e -

(1) s @ ———————— (2) e gl —————|
(3)  wfie FrEy —————— (4) = el
Options :

92090633737. 1
92090633738. 2
92090633739. 3
92090633740. 4

Question Number : 36 Question Id : 9209068537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fre WEE: " -

(1) u=A (2) HH
@ = (4)
Options :

92090633741. 1
92090633742. 2
92090633743. 3
92090633744. 4

Question Number : 36 Question Id : 9209068537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Foe HEH Hi -
(1) L Eil (2) =4
(3 & (4

Options :



92090633741. 1
92090633742. 2
92090633743. 3
92090633744. 4

Question Number : 36 Question Id : 9209068537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Foe HEH Hi -

(1) O# (2) =4
(3 = (4 =m
Options :

92090633741. 1
92090633742. 2
92090633743. 3
92090633744. 4

Question Number : 37 Question Id : 9209068538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TATHETEIY: e -

(1) = (2) weeE
(3) HHEEE (4) HUEGe=
Options :

92090633745. 1
92090633746. 2
92090633747. 3
92090633748. 4

Question Number : 37 Question Id : 9209068538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR & -

(1) ode= (2) weeE
(3) HHEEE (4) HUEGe=



Options :

92090633745. 1
92090633746. 2
92090633747. 3
92090633748. 4

Question Number : 37 Question Id : 9209068538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR wfE -

(1) e (2) Tode
(3)  wmEEE (4) wudHed
Options :

92090633745. 1
92090633746. 2
92090633747. 3
92090633748. 4

Question Number : 38 Question Id : 9209068539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIFAEEn RYEITEE g 6w -

(1) 1,775 2y 1,875
(3 1,975 (4) 2,000

Options :

92090633749. 1
92090633750. 2
92090633751. 3
92090633752. 4

Question Number : 38 Question Id : 9209068539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) 1,775 2y 1,875
(3 1,975 (4) 2,000

Options :

92090633749. 1
92090633750. 2
92090633751. 3
92090633752. 4

Question Number : 38 Question Id : 9209068539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIFAEEn wYEITEE e wfw -

(1) 1,775 2y 1,875
(3 1,975 (4) 2,000

Options :

92090633749. 1
92090633750. 2
92090633751. 3
92090633752. 4

Question Number : 39 Question Id : 9209068540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HethEHaR THar 9a o -

(1) B (2) Tm:
(3) EACRE (4 =
Options :

92090633753. 1
92090633754. 2
92090633755. 3
92090633756. 4

Question Number : 39 Question Id : 9209068540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HretheHaR THar e oy -

(1) =H (2) I
(3) TEm; (4) %=
Options :

92090633753. 1
92090633754. 2
92090633755. 3
92090633756. 4

Question Number : 39 Question Id : 9209068540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HethUEHHR THari e o -

(1) U (2) Tm:
(3) LAE B (4 %=
Options :

92090633753. 1
92090633754. 2
92090633755. 3
92090633756. 4

Question Number : 40 Question Id : 9209068541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeThUee] UYY; Yo A -

(1) e Frefags Faefnd =d

(2)  HAY Iy ey —————|
(3) o et e ——————————— |
(1)  Femfemmeedommsm ——

Options :

92090633757. 1
92090633758. 2
92090633759. 3
92090633760. 4

Question Number : 40 Question Id : 9209068541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HoThIveey WYH: yele: #fe -

(1) e Froafag Faefnds =d

(2) ¥ SgEEoNY ey —————————|
(3) T v e |
(4)  TefEmrrdmEE |

Options :

92090633757. 1
92090633758. 2
92090633759. 3
92090633760. 4

Question Number : 40 Question Id : 9209068541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeThvee] UYY: Yot #iE -

(1) e Froafag Faefnds =d

(2) ¥ SgEEoNY ey —————————|
(3) T v e |
(4)  TefEmrrdmEE |

Options :

92090633757. 1
92090633758. 2
92090633759. 3
92090633760. 4

Question Number : 41 Question Id : 9209068542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H=ThIvEE ue i geAr: | -

(1) 100 (2) 204
(3 104 (4) 54
Options :

92090633761. 1
92090633762. 2



92090633763. 3
92090633764. 4

Question Number : 41 Question Id : 9209068542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HetehIUEE U i Teira: @i -

(1) 100 (2) 204
(3 104 (4) 54

Options :

92090633761. 1
92090633762. 2
92090633763. 3
92090633764. 4

Question Number : 41 Question Id : 9209068542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HehIUEE Ul i Teire: 5 -

(1) 1040 (2) 204
(3 104 (4) 54

Options :

92090633761. 1
92090633762. 2
92090633763. 3
92090633764. 4

Question Number : 42 Question Id : 9209068543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AATRTE A SUHAe] Fathres -

(1) s = (2) fefra =
(3) TR (4) =ad =
Options :

92090633765. 1
92090633766. 2



92090633767. 3
92090633768. 4

Question Number : 42 Question Id : 9209068543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Barrudaen aviaofen grarmmesy -

(1) e (2 fedd =i
(3) gt En (4) g4 it
Options :

92090633765. 1
92090633766. 2
92090633767. 3
92090633768. 4

Question Number : 42 Question Id : 9209068543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BareRTdae guiAafed grerenesy -

(1) s (2 fafa =
(3) g (4 =qd =71
Options :

92090633765. 1
92090633766. 2
92090633767. 3
92090633768. 4

Question Number : 43 Question Id : 9209068544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FIEMUT: FEAETL A FemneE -

(1) vl = (2) fefta =i
(3) g =i (4) = =
Options :

92090633769. 1
92090633770. 2



92090633771. 3
92090633772. 4

Question Number : 43 Question Id : 9209068544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FIHEMUT: FEAL aHEE GeEnEE -

(1) s & (2) Fafa =
(3) e =l (4) = H
Options :

92090633769. 1
92090633770. 2
92090633771. 3
92090633772. 4

Question Number : 43 Question Id : 9209068544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEUT; FEEL vEEE geEreE -

(1)  wed & (2) faftd =i
(3) e =l (4) = =
Options :

92090633769. 1
92090633770. 2
92090633771. 3
92090633772. 4

Question Number : 44 Question Id : 9209068545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"HIAAE FAi g s gl e wfE geee -

(1) e i (2) feftd =0
(3) T e (4) 3™ =
Options :

92090633773. 1
92090633774. 2



92090633775. 3
92090633776. 4

Question Number : 44 Question Id : 9209068545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HgE HwEi g sfveamtE: st s wfE gemmee -

(1) st (2) fedr =
(3) Tt = (4) e EA
Options :

92090633773. 1
92090633774. 2
92090633775. 3
92090633776. 4

Question Number : 44 Question Id : 9209068545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"HiaE wEi g geamtE: 3 e wfE geemee -

(1)  wd =i (2) fadfta =
(3) T (4) o EA
Options :

92090633773. 1
92090633774. 2
92090633775. 3
92090633776. 4

Question Number : 45 Question Id : 9209068546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qﬁanﬁaﬁaﬁquﬁwﬁwﬁw_

(1) = & (2) wam =
(3) W (4) fedftd =
Options :

92090633777. 1



92090633778. 2
92090633779. 3
92090633780. 4

Question Number : 45 Question Id : 9209068546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Ft | wltrerderi ud: war: o e e g -

(1)  zm (2) 98 =
(3) (4 ferd =
Options :

92090633777. 1
92090633778. 2
92090633779. 3
92090633780. 4

Question Number : 45 Question Id : 9209068546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘et & wltrerderiy wd: s oy e e geme -

(1) & & (2) T E
(3) (4) Feedftd =
Options :

92090633777. 1
92090633778. 2
92090633779. 3
92090633780. 4

Question Number : 46 Question Id : 9209068547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HrethmEHan ek fmfa sty -
(1) @& (2) fowaai

(3) o (4) m=EE



Options :

92090633781. 1
92090633782. 2
92090633783. 3
92090633784. 4

Question Number : 46 Question Id : 9209068547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HerhmEHEn [orRfae fmfa st -

(1) =& (2) favaent
(3) aq: (4y w=HE
Options :

92090633781. 1
92090633782. 2
92090633783. 3
92090633784. 4

Question Number : 46 Question Id : 9209068547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HathISHH Tormfaae fafar smet -

(1) =& (2) fovaami
(3 (4) ==
Options :

92090633781. 1
92090633782. 2
92090633783. 3
92090633784. 4

Question Number : 47 Question Id : 9209068548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A hUSHER & arimy | ae o e q@ e e - sefeds -

(1) =& (2) THTE
(3) ferdteore (4) wftaey
Options :

92090633785. 1
92090633786. 2
92090633787. 3
92090633788. 4

Question Number : 47 Question Id : 9209068548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HrahUEHER * # Ay | ey Frren g faae mema) - e -

(1) = (2) THTE
(3  fadfrors (1) e
Options :

92090633785. 1
92090633786. 2
92090633787. 3
92090633788. 4

Question Number : 47 Question Id : 9209068548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HerhUEan ¢ # iy | wm gy Frrer g e o) - e -

(1) === (2) Tda=
(3 i (4 Hiftae
Options :

92090633785. 1
92090633786. 2
92090633787. 3
92090633788. 4



Question Number : 48 Question Id : 9209068549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) e (2) TIEY:
(3) T (4 ==
Options :

92090633789. 1
92090633790. 2
92090633791. 3
92090633792. 4

Question Number : 48 Question Id : 9209068549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) afe: (2) TIRY:
(3) T (4) Wt
Options :

92090633789. 1
92090633790. 2
92090633791. 3
92090633792. 4

Question Number : 48 Question Id : 9209068549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) afe: (2) TIAY:
(3) T (4 e
Options :

92090633789. 1
92090633790. 2
92090633791. 3



92090633792. 4

Question Number : 49 Question Id : 9209068550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AT S e g d|

yfedfinifieied = =iy 7 diefr

A Feirn: aiviE: wiE g -

{1y o (2) T HA
(3)  wun = (4 =8 5
Options :

92090633793. 1
92090633794. 2
92090633795. 3
92090633796. 4

Question Number : 49 Question Id : 9209068550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AT S g 391 a4 |

yftrfnifeled v wig 1 wefa’

A Teirn:; aivE: wiE geeneE -

()  fedfd & (2) w=H E
(3)  wyl (4) = i
Options :

92090633793. 1
92090633794. 2
92090633795. 3
92090633796. 4

Question Number : 49 Question Id : 9209068550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U AT ST g 491 A4 |

yfefdfoeied & @iy 7 wef

4 veirn: 9ffa: wfE gerwree -

(1  fedfd & (2) Gad EA
(3) v (4 a8 =i
Options :

92090633793. 1
92090633794. 2
92090633795. 3
92090633796. 4

Question Number : 50 Question Id : 9209068551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gadtaman e oy sfiuamafs -

(1) e (2)
(3) @ (4) EmEg
Options :

92090633797. 1
92090633798. 2
92090633799. 3
92090633800. 4

Question Number : 50 Question Id : 9209068551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sfigadaEn “aaeaa: o sfinmaefe -

(1) e (2)
(3) TR (4) FPEE
Options :

92090633797. 1
92090633798. 2
92090633799. 3
92090633800. 4

Question Number : 50 Question Id : 9209068551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gadtaman e oy sfiuamafs -

(1) e (2)
(3) @ (4) EmEg
Options :

92090633797. 1
92090633798. 2
92090633799. 3
92090633800. 4

Question Number : 51 Question Id : 9209068552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATt fqem: e -

(1)  Fhgam: (2) oEEHR:
(3 (4) TR
Options :

92090633801. 1
92090633802. 2
92090633803. 3
92090633804. 4

Question Number : 51 Question Id : 9209068552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATt fqem: e -

(1)  =frpam: (2) SrEEEE:
(3 e (4) TAE:
Options :

92090633801. 1
92090633802. 2
92090633803. 3
92090633804. 4



Question Number : 51 Question Id : 9209068552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At fatEm: A -

(1) g (2) SEFUR:
(3 (4) TE:
Options :

92090633801. 1
92090633802. 2
92090633803. 3
92090633804. 4

Question Number : 52 Question Id : 9209068553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) wad (2) =g o
(3 T (4) wATaTaE
Options :

92090633805. 1
92090633806. 2
92090633807. 3
92090633808. 4

Question Number : 52 Question Id : 9209068553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) &4 (2) =g o
(3 == (4) ATaTEE
Options :

92090633805. 1
92090633806. 2



92090633807. 3
92090633808. 4

Question Number : 52 Question Id : 9209068553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mqﬁﬁm-

(1) w=Id (2) =egr: o
(3 TH (4) F=EE
Options :

92090633805. 1
92090633806. 2
92090633807. 3
92090633808. 4

Question Number : 53 Question Id : 9209068554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el S -

(1)  |u% #Use (2) arEd HoEd

(3) 99 s (4) &I AvEE
Options :

92090633809. 1
92090633810. 2
92090633811. 3
92090633812. 4

Question Number : 53 Question Id : 9209068554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TENHTAE Fode -
(1)  =od gz (2) Ed OvEH
(3) 799 qvae (4) TuE nvEe

Options :



92090633809. 1
92090633810. 2
92090633811. 3
92090633812. 4

Question Number : 53 Question Id : 9209068554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R THAE Fee -

(1) w98 qvget (2) Ed OvSH

(3) 99 ovsd (4) eI vEs
Options :

92090633809. 1
92090633810. 2
92090633811. 3
92090633812. 4

Question Number : 54 Question Id : 9209068555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Wi -

(1) e (2) Fgde=
(3)  wMEES (4) Wudaes
Options :

92090633813. 1
92090633814. 2
92090633815. 3
92090633816. 4

Question Number : 54 Question Id : 9209068555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
At W -

(1) odee (2) THHe=
(3) =wEEH (4) HudaeE



Options :

92090633813. 1
92090633814. 2
92090633815. 3
92090633816. 4

Question Number : 54 Question Id : 9209068555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Wi -

(1) e (2) Fgde=
(3) HmEEE (4) U
Options :

92090633813. 1
92090633814. 2
92090633815. 3
92090633816. 4

Question Number : 55 Question Id : 9209068556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST ETEElaT: SEINSATIE UUY: Yeilek: A -
(1) =g o 4w feage ——————— |
(2) @ mgmbEErsey ————|

(3)  Ud gaage 4

(4)  wFEEEmm

Options :

92090633817. 1
92090633818. 2
92090633819. 3
92090633820. 4

Question Number : 55 Question Id : 9209068556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AftergTerdiaTaT: ErEMTeATE WuN: elih: e -
(1) e w9 3w s ———————— |
2y 3 AmmfErErey |

(3)  vd Haagw 4

(4)  wFEEEmm w6

Options :

92090633817. 1
92090633818. 2
92090633819. 3
92090633820. 4

Question Number : 55 Question Id : 9209068556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SV o e s R —
() Aagmfdrmrsrey —

(3) A Haage 3

(4)  wFEEfEm w6

Options :

92090633817. 1
92090633818. 2
92090633819. 3
92090633820. 4

Question Number : 56 Question Id : 9209068557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sftrgrardiaTan: YAgEeaE WYn: Yol Wi -
(1) & FifE o= ————————
(2) =@ aEEEEE JE |
(3)  FedgemY: IETE |
(4 T s |

Options :

92090633821. 1
92090633822. 2



92090633823. 3
92090633824. 4

Question Number : 56 Question Id : 9209068557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sftogrraritaTan: qaeImeaaey vy Yo e -
(1) = FfiEyes gwafs ———————
(2) = EEEEEE S |
(3) ehEmy e |
(4) I |

Options :

92090633821. 1
92090633822. 2
92090633823. 3
92090633824. 4

Question Number : 56 Question Id : 9209068557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sffogrraiaan: gy vum: Yo, i -
(1) 7 A
(2) = orEmEgel S ————————|
(3) ey TETE |
(4) T e |

Options :

92090633821. 1
92090633822. 2
92090633823. 3
92090633824. 4

Question Number : 57 Question Id : 9209068558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frEFTagTEN Hoty To5 -

(1 = 2 T
(3) = (4) FEw
Options :

92090633825. 1
92090633826. 2
92090633827. 3
92090633828. 4

Question Number : 57 Question Id : 9209068558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STETagATAR F2 I= -

(1) &R (2) &

(3) &m: (4 wmm
Options :

92090633825. 1
92090633826. 2
92090633827. 3
92090633828. 4

Question Number : 57 Question Id : 9209068558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STETEEAAR F T=0d -

(1 & (2) e

(3 = (4 e
Options :

92090633825. 1
92090633826. 2
92090633827. 3
92090633828. 4

Question Number : 58 Question Id : 9209068559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fiogradiaEn 91 wragatars ga a5 == -

(1) e (2) T

(3 (4) wma:
Options :

92090633829. 1
92090633830. 2
92090633831. 3
92090633832. 4

Question Number : 58 Question Id : 9209068559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrgradiaan 91 wiaaaEys g9 Rl 5 = -

(1) e (2) T

(3 (4) WHA:
Options :

92090633829. 1
92090633830. 2
92090633831. 3
92090633832. 4

Question Number : 58 Question Id : 9209068559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ArgradiaEn 91 wihaaaers g9 faufd 5 3= -

(1) = (2) T

(3 o (4) WHa:
Options :

92090633829. 1
92090633830. 2
92090633831. 3
92090633832. 4



Question Number : 59 Question Id : 9209068560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sfgrradtaran: grense el wfe -

(1) 30 (2) 25
(3) a5 (4) 20

Options :

92090633833. 1
92090633834. 2
92090633835. 3
92090633836. 4

Question Number : 59 Question Id : 9209068560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sfoEradtar: gefsen = g9 -

(1) 30 (2) 25
(3 35 (4) 20

Options :

92090633833. 1
92090633834. 2
92090633835. 3
92090633836. 4

Question Number : 59 Question Id : 9209068560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sfrmEradtar: Zedsen e 89fE -

(1) 30 (2) 25
(3) 35 (4) 20

Options :

92090633833. 1
92090633834. 2
92090633835. 3



92090633836. 4

Question Number : 60 Question Id : 9209068561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T e mefEaamEE: vuh wer avnfE -

(1)  ®rEm (2) wfrdees
(3) I (4) ErdEEE
Options :

92090633837. 1
92090633838. 2
92090633839. 3
92090633840. 4

Question Number : 60 Question Id : 9209068561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I HefeTEE: T HeEE qunfe -

(1)  ®ErE (2) wfrdEe
(3)  smurE (4) oo
Options :

92090633837. 1
92090633838. 2
92090633839. 3
92090633840. 4

Question Number : 60 Question Id : 9209068561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A e ArefeAaEE: Ty A At -

(1) = (2) sfirEEs
(3)  uEE (4) et
Options :

92090633837. 1



92090633838. 2
92090633839. 3
92090633840. 4

Question Number : 61 Question Id : 9209068562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Framgergmafs -

(1) e (2) T
(3)  wMEE (4) sy
Options :

92090633841. 1
92090633842. 2
92090633843. 3
92090633844. 4

Question Number : 61 Question Id : 9209068562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Framgergmafs -

(1) = (2) FgHEH
(3)  wMEE (4) sy
Options :

92090633841. 1
92090633842. 2
92090633843. 3
92090633844. 4

Question Number : 61 Question Id : 9209068562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Framgergmafs -

(1) = (2) FgHEH
(3)  wMEE (4) sy
Options :

92090633841. 1
92090633842. 2



92090633843. 3
92090633844. 4

Question Number : 62 Question Id : 9209068563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higdes yuat 9= wiE -

() I —— (2 g —
(3) 370 daud 9d S ————— | (4)  #w an ane e |
Options :

92090633845. 1
92090633846. 2
92090633847. 3
92090633848. 4

Question Number : 62 Question Id : 9209068563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HidEe vy o= Wi -

(1 I — 1| (2) G FAHATA ——— |
(3 Magmmsafenfy — | @) smamafedEr ———
Options :

92090633845. 1
92090633846. 2
92090633847. 3
92090633848. 4

Question Number : 62 Question Id : 9209068563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiaeg YyH 9= e -

() @@y —m8M7M—— 2 FfFEEmE —
(3) 3 AT we =y | (4) 3= an o HE ———————|
Options :

92090633845. 1



92090633846. 2
92090633847. 3
92090633848. 4

Question Number : 63 Question Id : 9209068564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

reRerImET Afe -

(1)  FodeE (2) THdgE
(3)  HoEes (4) FUHaT
Options :

92090633849. 1
92090633850. 2
92090633851. 3
92090633852. 4

Question Number : 63 Question Id : 9209068564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

reRerImET Afe -

(1)  FodeE (2) THdgE
(3)  HoEes (4) FUHaT
Options :

92090633849. 1
92090633850. 2
92090633851. 3
92090633852. 4

Question Number : 63 Question Id : 9209068564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IMeReramE A -

(1)  Fodge (2) T
(3)  wwEEE (4) e
Options :

92090633849. 1
92090633850. 2



92090633851. 3
92090633852. 4

Question Number : 64 Question Id : 9209068565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lt D G R B b T T | AR T

(1) §=q (2) =
(@  Tm (4) wf=:
Options :

92090633853. 1
92090633854. 2
92090633855. 3
92090633856. 4

Question Number : 64 Question Id : 9209068565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sirgnadtaan sdedEaaTe Yafd -

(1) FFY (2) =g
(3) Fm: (4 wmi=:
Options :

92090633853. 1
92090633854. 2
92090633855. 3
92090633856. 4

Question Number : 64 Question Id : 9209068565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lt D G R B b T T | AR T

(1) §=q (2) =
(@  Tm (4) wf=:
Options :

92090633853. 1



92090633854. 2
92090633855. 3
92090633856. 4

Question Number : 65 Question Id : 9209068566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffogradtar wEa ey 3 5 s genfy -

(1) vt ye (2) o s
(3) 3 e (4) = g
Options :

92090633857. 1
92090633858. 2
92090633859. 3
92090633860. 4

Question Number : 65 Question Id : 9209068566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) 7=t ye (2) A s
(3)  3TE e (4) = g
Options :

92090633857. 1
92090633858. 2
92090633859. 3
92090633860. 4

Question Number : 65 Question Id : 9209068566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ftogradiaTa Wi Higaq 38 FJai st genfy -
(1) v e (2) S g
(3)  HTE e (4) == g

Options :



92090633857. 1
92090633858. 2
92090633859. 3
92090633860. 4

Question Number : 66 Question Id : 9209068567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sftagrradteral o st - o sgfdur vy -

(1) 37 Y= (2) T
(3) v g (4) SvETR Y
Options :

92090633861. 1
92090633862. 2
92090633863. 3
92090633864. 4

Question Number : 66 Question Id : 9209068567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sl o gt - o Safdurs =y -

(1) e (@) T
(3)  dwEd e (4) dvErR g
Options :

92090633861. 1
92090633862. 2
92090633863. 3
92090633864. 4

Question Number : 66 Question Id : 9209068567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sftagrradteral o st - o wqfdurs wenf -

(1} AT LT (2) ?fmm'iﬁ
(3) v e (4) ATETR S



Options :

92090633861. 1
92090633862. 2
92090633863. 3
92090633864. 4

Question Number : 67 Question Id : 9209068568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SfroErEamEgm S #f -

(1) S00 (2) 400
(3) 335 (4 500
Options :

92090633865. 1
92090633866. 2
92090633867. 3
92090633868. 4

Question Number : 67 Question Id : 9209068568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rrgrraaTEgo e |®he -

(1) 300 (2) 400
(3) 335 (4) 500
Options :

92090633865. 1
92090633866. 2
92090633867. 3
92090633868. 4

Question Number : 67 Question Id : 9209068568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SfroErEamEgm S #f -
() 300 (2) 400
3 335 (4) 500



Options :

92090633865. 1
92090633866. 2
92090633867. 3
92090633868. 4

Question Number : 68 Question Id : 9209068569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1y IfFgy Tomfe) 73 vy wfrsweg (A), 31 T FE0E (R) -

ey (A) . A 9 acafeitasd afamm 3 et o)

FA(R) : FREEE A7 Yaheenel aed wionfieesy) mewwe:  sEvmeeEwE e
gt we: qH: HawE A fada)

(1) 3w sfismed (A) F0t (R) 5 |1, oW (R), (A) Fe sifimuaer sy s #if)

(2) v AT (A) T () T WY, T6q T (), (A) FE Al T Wy sen Fakh
(3) wfiee (A) o1y, T F09 (R) 7 |51y

(4) whwE (A) 7 |1y, T S0 (R) 519

Options :

92090633869. 1
92090633870. 2
92090633871. 3
92090633872. 4

Question Number : 68 Question Id : 9209068569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w1 Ifga oomfen) 7 vy sfsuem (A), 3R 9 S (R) -
Ay (A) . @A 98 animiitas aferer | fEdf g

F0 (R) - ForaEEl I yafigeren aea wionfifaer) wemmm: sEemeEEdfe
wrifon mman: q=: Hawe | fade)

I fEgrE weee ey sfamam e -

(1) 2way wfimed (A) S0 (R) = |1, S0 (R), (A) Tee sifisyee |y samet waf)

(2 v sy (A) T () = WY, T S (R, (A) Feen s Ty s il
(3) wfisres (A) "y, W FE0 (R) T =Y

(4) AP (A) 7 W19, Teg FO (R) FY)|

Options :

92090633869. 1
92090633870. 2
92090633871. 3
92090633872 4

Question Number : 68 Question Id : 9209068569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3. 3ffrgd gomfen) @ vy wfirsgay (A), HW 9 SR (R) -

Ay (A) . A W aifites afam 3 G o

o (R) ; ForEEeE e ygfgeenel aig wionfifeeny) meem: gEvmelEEEfE
wrfon T H: HawE A

I fFTEE weeea faeeiy sfada e -

(1) 3way wfysyd (A) F00 (R) = &, FE9H (R), (A) 3799 #fiysyae |1g =m0kl

(2) 9T AT (A) T () T A, T FOM (R), (A) T Al Ty s w90t
(3) s (A) WY, T A (R) T 1Y)

(4) AP (A) 7 WY, T FO(R) Y|

Options :
92090633869. 1
92090633870. 2



92090633871. 3
92090633872. 4

Question Number : 69 Question Id : 9209068570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wiu: 3fFed =i 79 v iy (A), ¥ 9 FHE (R) -

sty (A) . 98 sfera detsfes g v, A ames fafg)

Fror (R) - Tty TS STe g, TEH O W wrEE, A o R
I g e feeuy Ifaaae = e -

(1) 3waq s (A) F07 (R) 9 914, R0 (R), (A) rae sifirseymeg |y same |

(2) 3vaq sifases (A) S0 (R) 9 @1, g SR (R), (A) I0e sifeRye 3 |1y s sl
(3 wfirsad (A) w1, T % (R) 5 @y

(4) iR (A) 7 |1y, W S0 (R) =Y

Options :

92090633873. 1
92090633874. 2
92090633875. 3
92090633876. 4

Question Number : 69 Question Id : 9209068570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



iy T amfen) o vy srfisryan (A), 390 9 SR (R) -

sy (A) - oe Fiferra dtshes s vy, aaet o fafs)

Fror (R) - Fafl F5 S wEEd, Tedt ae 9w, aaE o R
I g e feeuy Ifaaae = e -

(1)  3wan sifises (A) S0 (R) 9 @1, SR (R), (A) 3090 sifimryee ang samesa i)
(2) 3wan Al (A) S0 (R) ¥ 94, 561 SR (R), (A) S00e Sl T |1y s S
(3 FfwaE (A) |51y, 70 %1 (R) 7 |51y
(4) FfRaE (A) 7 719, T S0 (R) H51Y)
Options :
92090633873. 1
92090633874. 2

92090633875. 3
92090633876. 4

Question Number : 69 Question Id : 9209068570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wy: IfFTga el 7 vy sifisreae (A), 99 9 F9 (R) -

iy (A) . 72 wifeerd SStshied S e, aaa amss fafz)
Fr (R) - Tt Ol STE WTEEd, FeH! Tl Se WEad, doet g i)

I g et fasheuy Ay I fage -

(1) 3w sifises (A) S0 (R) 9 @1, R0 (R), (A) 39 sifirsyes anyg same i)
(2) 3w sfiwed (A) FT01 (R) 7 @4, 96 0 (R), (A) Sen sl T |1y s S|
(3 o (A) myg, T Foi (R) 7 =@y
(4) R (A) 7 F1Y, T BT (R) E1Y|
Options :
92090633873. 1

92090633874. 2
92090633875. 3



92090633876. 4

Question Number : 70 Question Id : 9209068571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wiy: g eafe) 7 vy sy (A), 90 9 FA9 (R) -

sy (A) . Feshmare T aE
Hom (R) : Feh FAfZanTel W gavarawEad e st et

(1) 3vay fies (A) 0 (R) 5 518, From (R), (A) e sifirsesren |y samen w0l

(2)  Ivgy FgEREH (A) F0 (R) = A1, W w0 (R), (A) o sAiiereen 3 |1y sawe st
(3) wfiwyd (A) 51y, T =09 (R) 3 =51y

(1) wiasaE (A) 7 |19, T w0 (R) 519

Options :

92090633877. 1
92090633878. 2
92090633879. 3
92090633880. 4

Question Number : 70 Question Id : 9209068571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wy: IfFaga zomfe) a9 vy sfirrye (A), 99 9 SR (R) -

Ay (A) - Fe s aET |
Fo, (R) - T HAl-Ganet T AT aE] Fo st =k |

I IfETrE e ety sfaaam = e -

(1) 3wgq sfireE (A) w0 (R) 9 81, S0 (R), (A) s sifireere |y sams saf)
(2) 3w g (A) S0 (R) 9 @19, W SR (R), (A) 39 sifirsyaa 3 |y s st
(3)  wfiEgT (A) 1Y, 9 S0 (R) 7 @y

(4) wfmeE (A) 7 =1y, W S0 (R) =Y
Options :
92090633877. 1
92090633878. 2

92090633879. 3
92090633880. 4

Question Number : 70 Question Id : 9209068571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wy: IfFaga zomfe) a9 vy sfirrye (A), 99 9 SR (R) -

Ay (A) - Fe s aET |
Fo, (R) - T HAl-Ganet T AT aE] Fo st =k |

I IfETrE e ety sfaaam = e -

(1) 3vaq wfiushed (A) SR (R) 9 |1, SR (R), (A) 3o Afismye |1y sawen skl
(2) 3w g (A) S0 (R) 9 @19, W SR (R), (A) 39 sifirsyaa 3 |y s st
(3) wfiE (A) "1, W w00 (R) T 91y
(4) wfirwed (A) 7 |1y, T FE0 (R) 1Y)
Options :
92090633877. 1

92090633878. 2
92090633879. 3



92090633880. 4

Question Number : 71 Question Id : 9209068572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1y IfFga Tonfe) 7 vy sfisyeyg (A), 3 9 Ty (R) -

sifipremq (A) ;g A Tad=t agmeE 1)

Fom (R) - TETH: e T dgE 9 F e
I Sl e ety famamy o faa -

(1) 7 sfiEees (A) wEm (R) = &N, w0 (R), (A) 3o sifirer ang = sl
(2) 3vayg sfimad (A) FE0 (R) 9 @14, T SR (R), (A) 09 sifimrer 3 |1y samet il
(3) wfaseE (A) #1Y, T FI (R) A @19

(4) FfaFEE (A) 7 719, W= S0 (R) 514

Options :

92090633881. 1
92090633882. 2
92090633883. 3
92090633884. 4

Question Number : 71 Question Id : 9209068572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
. IfFrga Tl 7 vy sfissyeg (A), 3R 9 =g (R) -
sfmeyg (A) . wgen 3 Fads agnd )

HoE (R) - HETAH: TS T dgrE W F Fada)
I SfFgme e ety Ry o fae -

(1) 3w sfiEes (A) Fmm (R) 5 @0y, SR (R), (A) $ore sfirraoe wny @mer i)

(2) 3ugg sfiswed (A) S0 (R) = 1Y, T SR (R), (A) Teren sifirsyeg 5 |y s )
(3) fipeE (A) ®1Y, T A9 (R) 3 @Y

(4) FWHE (A) 7 H1Y, W FA0 (R) FyY)



Options :

92090633881. 1
92090633882. 2
92090633883. 3
92090633884. 4

Question Number : 71 Question Id : 9209068572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1y Ifagd zonfen ) @9 vy sfirsyag (A), 3 9 S0 (R) -

sifipremq (A) ;g A Tad=t agmeE 1)

Hom (R) : HETH: T @& el dgrd 9 | )
Iae IfFagme serea faseiy afaaany o fage -

(1) Fworg sfises (A) FE (R) = @01, SR (R), (A) $orE sifimaen @] =mer sl
(2) vy Hwimy (A) S0 (R) = 61, T SR (R), (A) Teaen sifieRysen 3 |1y sawe )
(3) fiEeE (A) 914, 9 %0 (R) A F51Y)

(4) FfaFEE (A) 7 719, W= S0 (R) 514

Options :

92090633881. 1
92090633882. 2
92090633883. 3
92090633884. 4

Question Number : 72 Question Id : 9209068573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. 3fFagd gomfen) @ v sfirmyg (A), 3 9 S0 (R) -

i (A) . wfdermafal em: |5 8 i)

o (R) - gt 9: Hegl HIEEEAE, | ey 5 )
e FfEmgaen sersa fasery faamy i fage -

(1) 39gq sfisyd (A) F0 (R) = &, S0 (R), (A) 3006 sifihyaes @y sameai skl

(2) 2w sfirmeE (A) =0 (R) 9 5y, T S (R), (A) s sfimsemn 3 g s =it
(3) e (A) 51, g FO (R) T WYl

(4) FrfimuE (A) 7 H1Y, T ®E0 (R) T4

Options :

92090633885. 1
92090633886. 2
92090633887. 3
92090633888. 4

Question Number : 72 Question Id : 9209068573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wy: IfFTgg eomfen) 7 vy sficeyay (A), @ 9 =099 (R) -

firme (A) . el mew: v 8 o

oo (R) - TgTh: A: Hag HGEA, 8 A 99 e
I fFTgme s fawey afadaey o e -

(1) 2w sfuswyd (A) F101 (R) =3 81, FR0E(R), (A) 3o sifirsaen amy smer wifa)

(2) 2w sfireE (A) S (R) 9 5y, TSI (R), (A) gemen sifimremn 3 any s =it
(3) e (A) #1Y, g FO (R) 7 @yl

(4) FfiweE (A) 7 519, W SR (R) /1Y)

Options :

92090633885. 1
92090633886. 2
92090633887. 3
92090633888. 4



Question Number : 72 Question Id : 9209068573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 3w oomfen 7 v sfissueg (A), 3R 9 =E (R) -

sfimpey (A) . wafiaEafeg oew: @ 8 fm

FvH (R) - Hegeh: 4: Heel AIEAA, § AT 79 B
e IfFagren e fremey afamamy o faga -

(1) 3wzq wfiswas (A) FAv (R) = 81, A0 (R), (A) 390 sifisyae |y smei wf)

(2) 2w sfireE (A) =0 (R) 9 5y, T S (R), (A) g sfimremn 3 any smen =it
(3) wfisa (A) Ty, g 9 (R) 7 =Y

(4) wfases (A) 7 1Y, T S0 (R) 719

Options :

92090633885. 1
92090633886. 2
92090633887. 3
92090633888. 4

Question Number : 73 Question Id : 9209068574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4. Sfegd Tafen| 7 oay SRy (A), I 9 FRom (R) -

Ay (A) :  WARAGAET A9 FF IAeEa)
0 (R) - Fraafa vy sdwdweam 55 o Sogradaa wEm sy

Trdee ffgae srea freety sfaammy o faga -

(1) 3wy wfiseE (A) FE0 (R) 9 519, FE0 (R), (A) g7 wfisyson |1 =g S|
(2)  IvEq fgweE (A) F=E (R) 9 |54, T FA (R), (A) 3e Afissgra 3 |y same wifha)
(3 sy (A) |1y, = ST (R) T EY)

(4) FfimeE (A) 7 7Y, T w0 (R) A1y
Options :



92090633889. 1
92090633890. 2
92090633891. 3
92090633892. 4

Question Number : 73 Question Id : 9209068574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s Sfegd oomfen o= v sy (A), 3 3 T (R) -

sfimpyg (A) ;.  HROheredn a: %% TaeHaT )
0 (R) - Frarefat s sdwdweam $%° o fiogradar wrEm S

I fFagae anera fasety Sfaaany e e -

(1)  3vag Fiiswes (A) w0 (R) 9 |51, SR (R), (A) fre sfisraes wmy s sifda)
(2) Ivay wfigweE (A) FA0 (R) 9 |1, W FR0 (R), (A) T sfesees 3 |1y sgweg) &aidl
(3 i (A) |J1Y, W= FT0 (R) T =Y

(4) sl (A) 7 |1Y, 909 w0 (R) w1y

Options :

92090633889. 1
92090633890. 2
92090633891. 3
92090633892. 4

Question Number : 73 Question Id : 9209068574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. fergd Tafen 7 vy sfase (A), 39 9 FEom (R) -

Ay (A): SIS Ta: 6 IAeEET)

Hor (R) - Fraafaet yen sdedeaan 55" o Sogmadarg s sy

I fFngmE e ey sfaaamy s e -

(1)
(2)
(3)

(4)

3y iy (A) FE (R) 9 &1y, FEom (R), (A) Fae sfisysen |1y samen S|

av 3faEes (A) 10 (R) 9 @1, 9 1 (R), (A) $ore sifiees 3 |y same it
s (A) 1Y, T FR0 (R) 7 =1y

i (A) 7 914, T F09 (R) Y|

Options :

92090633889. 1
92090633890. 2
92090633891. 3
92090633892. 4

Question Number : 74 Question Id : 9209068575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e e e -

(A) T

(B) feet:

(C)  Temafem

(D) =

(E) w==e

wuifefsafraey sdtiags e -

(1)
(2)
(3)
(4)

(A), (D), (C), (B), (E)
(D), (C), (A), (B), (E)
(D), (B), (A), (E), (C)
(C), (D), (E), (A), (B)

Options :

92090633893. 1
92090633894. 2
92090633895. 3



92090633896. 4

Question Number : 74 Question Id : 9209068575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e e e -

(A) 9

(B) wferent.

(C)  Femaiem

oy =i

(Ey H==mg

wuiferfigntasery At faaa -

(1) (A), (I, (C), (B), (E)
(2) (D), (C), (A), (B), (E)
(3} (D), (B), (A). (E), (C)
1) (0), (D), (E), (A), (B)

Options :

92090633893. 1
92090633894. 2
92090633895. 3
92090633896. 4

Question Number : 74 Question Id : 9209068575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T R e -

(A =

(B) et

(C)  FuEtEy

(D)

(E) m==

wuferfignfasety s fae -

(1) (A), (D), (C), (B), (E)
(2) (D), (C), (A), (B), (E)
(3) (D), (B), (A), (E), (C)
4 (), (D), (E), (A), (B)

Options :

92090633893. 1
92090633894. 2
92090633895. 3
92090633896. 4

Question Number : 75 Question Id : 9209068576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s e R

(&) Fm
(By TYUR:
(C)  megm:
(D) =
(E) 63

(1) (B), (C), (A), (E), (DY
2y  (B), (D), (E), (A), (O)
(3 (Cy, (A), (B). (D), (E)
(4) (E), (D), (B), (C), (A)

Options :
92090633897. 1



92090633898. 2
92090633899. 3
92090633900. 4

Question Number : 75 Question Id : 9209068576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s wy -

(4  Fm
(B) =4
(C) HEqy:
Dy =y
(E) g3

(1) (B}, (C), (A}, (E), (DN
2 (B), (D), (E), (A), (O)
(3) (0, (&), (B), (D), (E)
{4) (E), (D), (B), (C), (A)

Options :

92090633897. 1
92090633898. 2
92090633899. 3
92090633900. 4

Question Number : 75 Question Id : 9209068576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e e R

(4

(By  TMHRE:

(C)  wem:

(Dy =Wy

(E) g4

seftferfamy forerery wfrefimged foga -

(1) (B), (C). (A}, (E). (D)
(2) (B), (D), (E), (A), (C)
(3)  (0), (4), (B), (D), (E)
4y  (E), (D), (B), (C), (A)

Options :

92090633897. 1
92090633898. 2
92090633899. 3
92090633900. 4

Question Number : 76 Question Id : 9209068577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e g g -

@ g

(B)  FwEq

(Cy &

(D) witem

(E) =

s fefiaafameiy addigm faaa -

(1) (D), (E), (A), (B), (C)
(2) (C), (D), (E), (B, (A)
(3 (A), (B), (D), (E), (C)
(4)  (A), (C), (E), (B), (D)

Options :
92090633901. 1



92090633902. 2
92090633903. 3
92090633904. 4

Question Number : 76 Question Id : 9209068577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(A) 7-_]'%[

(B  EEy

(C) =m

(D)  fEm

(E) Uk

wenfefaafameiy s fam -

(1) (I, (E), (A). (B), (O)

(2) (C), (D), (E), (B), (A)

(3 (A), (B), (D), (E), (C)

(4) (A), (C). (E), (B), (D)
Options :

92090633901. 1
92090633902. 2
92090633903. 3
92090633904. 4

Question Number : 76 Question Id : 9209068577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s 7 o -

A o

(B) s

(Cy &m

(D) =y

(E) @
weiiferfaafrersiy sl faga -

(1) (D). (E), (A), (B), (C)
(2) (C), (D), (E), (B), (A)
(3) (A, (B), (D), (E), (C)
(4) (A), (C), (E), (B), (D)

Options :

92090633901. 1
92090633902. 2
92090633903. 3
92090633904. 4

Question Number : 77 Question Id : 9209068578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T -

(A) I
(B) A=A

(C) A

(D)  E

(E)  Frseoom

Fuitferfaey fashedy =g faqa -

(1) (C), (D), (A), (E), (B)
@ (C). (B). (E), (A), (D)
(3)  (B), (D), (A). (E). (C)
4y (D), (B), (C), (A), (E)
Options :
92090633905. 1
92090633906. 2



92090633907. 3
92090633908. 4

Question Number : 77 Question Id : 9209068578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rt s

(A) AU
(B) ATHERTITH
() S
(D) ST
(E)  frsegom

(1) (C), (D), (A), (E), (B)
(2)  (C), (B), (E), (A), (D)
(3) (B), (D), (A), (E), (C)
@ (D), (B), (O), (A), (E)

Options :

92090633905. 1
92090633906. 2
92090633907. 3
92090633908. 4

Question Number : 77 Question Id : 9209068578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wrEsrEERr %Y -

(A) I

(B) A=

(C) S

(D) =S

(E)  Frepmom

Fuifefaey fashedy et fagd -

(1) (0, (D). (A), (E). (B)
(2) (C), (B), (E), (A), (D)
(3 (B). (D). (A). (E), (C)
(4) (D}, (B), (C), (A), (E)

Options :

92090633905. 1
92090633906. 2
92090633907. 3
92090633908. 4

Question Number : 78 Question Id : 9209068579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI 9 Fera-

(A)  THEE:

(B)  werTde:

(C) ga=:

(D) fam=:

(E)  ¥d=:

Fraferiady ferpey Fefrefmm foga -

(1) (E), (C), (B), (&), (D)
(2) (C), (D), (A), (B), (E)
3 (B), (C), (D), (A), (E)
(4) (E), (I, (C), (B), (A)

Options :
92090633909. 1
92090633910. 2



92090633911. 3
92090633912. 4

Question Number : 78 Question Id : 9209068579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HH -

(A) THIAH:

(By el

(Cy g

Dy fame:

(E) T

wuferfigny femredy wftmge faem -

(1)  (E), (C). (B). (A). (D)
(2) (0. (D). (A), (B), (E)
(3) (B), (C). (D), (A). (E)
(4) (E), (D), (C), (B), (4)

Options :

92090633909. 1
92090633910. 2
92090633911. 3
92090633912. 4

Question Number : 78 Question Id : 9209068579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A)  THWE:

(By T

(C)y gaa:

(D) fam=:

(E)y  Fme:

senferigay frareay ity frga -

(1) (E), (C) (B), (A), (D)
(2) (C), (D). (A). (B). (E)
(3)  (B), (C), (D), (A), (E)
(1) (E), (D), (C), (B), (A)

Options :

92090633909. 1
92090633910. 2
92090633911. 3
92090633912. 4

Question Number : 79 Question Id : 9209068580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS %Y e -
(A)  IIHTE:

(B)  =erRTE:

(C)  IFETETRvE:

D) g

(E) Ferfessmsme:

wuiiferfigery fermety avdifagei fama -
(1 (B), D), A, (), (E)

(3) (B). (C). (A), (E). (D)

(3)  (C), (D), (B), (A), (E)

{4) (E), (Dy, (B, (C), (A)

Options :
92090633913. 1



92090633914. 2
92090633915. 3
92090633916. 4

Question Number : 79 Question Id : 9209068580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TUTOTRTHTISE Y T -
(A) IR
(B)  ETHITE:
(C)  FEEHS:

(D) Hetawmwe:
(E) fsfEsamsmme:

(1) (B), (D), (A), (C), (E)

(2) (B). (C). (A), (E). (D)
(3 (C), (D), (B), (A), (E)

{4) (E), (D), (B), (C), (A)

Options :

92090633913. 1
92090633914. 2
92090633915. 3
92090633916. 4

Question Number : 79 Question Id : 9209068580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TaTETRTHTISE Y e -

(A) RN

(B) EmwTHmE:
(C)  IFTRE:

(£) Tefessnsme.

wuiiferfigey feremety avfifgei faqa -
(1) (B), (D), (A), (C), (E)

(2) (B), (C). (&), (E), (D}

(3) (Ch, (DY, (B), (A), (E)
{4) (E), (D), (B). (C), (A)

Options :

92090633913. 1
92090633914. 2
92090633915. 3
92090633916. 4

Question Number : 80 Question Id : 9209068581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e qevi e faeE-

(&) T

(B) e

() frewE

D)  Fomgd

() =i

wenfefigey femrety i faqa -

(1)  (C) (A), (B). (D), (E)
(2)  (0), (B), (E), (D), (A)
(@ (B, (D), (E), (A) (O
@) (E) (D). (C) (A), (B)
Options :
92090633917. 1
92090633918. 2



92090633919. 3
92090633920. 4

Question Number : 80 Question Id : 9209068581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TEvn e Faa-

(A)  FErT
(B)  feaed
() frEw
(D) o
(E)  wviqd

(1) (0), (A (B), (D), (E)
() (C), (B), (E), (D), (A)
(3 (B, (D). (E). (A). (C)
(4 (E), (D), (0, (A), (B)

Options :

92090633917. 1
92090633918. 2
92090633919. 3
92090633920. 4

Question Number : 80 Question Id : 9209068581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Tevn e fae -

(A)  FErT

(B)  feaed

() forerd

D) FrgE

(E) o7

sifefigay foemety afrefige Foaga -

(1)  (C) (A), (B), (D), (E)
(2) (), (B), (E), (D). (A)
3 (B), (D), (E), (A), (C)
(4)  (E) (D), (0), (A), (B)

Options :

92090633917. 1
92090633918. 2
92090633919. 3
92090633920. 4

Question Number : 81 Question Id : 9209068582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w9 HyTgaufs -
FETL T T I T ) FIEEiE =35 T s
w0 - g fgdd = gammear qoont svmemmEET s

(1) =% 1, ®uae 119 399 |1

(2) e 1, w19 39E 3y
(3 wy 1 ey, e sy I sy
(4)  wu=y I 37En, fee w1 Ey)

Options :

92090633921. 1
92090633922. 2
92090633923. 3
92090633924. 4



Question Number : 81 Question Id : 9209068582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FY: FYTIAfE -
FETL - Ty gt go i 9| FarEtE St e nasse|
w011 Aftrgraae it = g o sesefimts wrf

(1) =9 1, w99 119 39 |519)

(2) YUY 1, %Y 119 3999 3y
(3) e 1y, e e I sy
(4) e 1 sy, g s Iy

Options :

92090633921. 1
92090633922. 2
92090633923. 3
92090633924. 4

Question Number : 81 Question Id : 9209068582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#Y: wygaafer -
F]ETL - g whaeies g9 w91 FIEtE =t T nasee
w0 Afrgraae i =y e [t geseefamt sl

(1) %9 1, 9 119 399 =)

(2) Y=Y 1, %y 119 399y 36|
(@ w1y, e e I sy
(4) w1 sy, feg e Ly

Options :
92090633921. 1
92090633922. 2



92090633923. 3
92090633924. 4

Question Number : 82 Question Id : 9209068583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: FYFEAEE -
FEg I w1 AT S, WORAT 4 HUTIE e |
w11 mefferia: SquinrerRMIrEIHET MYH FeTsEdH STROTHEEENEE  WEE

gergoent e
TG HUTLTE oA Seriamey Jhadany I faaE-
(1) o=y 1, %y 119 399 5l
(2) w1, e 1w 39 A
(3 =y 1 Ey, e sy I sy
(4p w9 | 3y, e g 1 =y
Options :
92090633925. 1
92090633926. 2

92090633927. 3
92090633928. 4

Question Number : 82 Question Id : 9209068583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y FYgTAfe -

FEg I w1 AT S, WORAT 4 HUTIE e |
Fueg I1 - mefferta; SquiTTEIAIITEET MY SeIRar SITROTHETEEANeE  FEE
et

I BYEEE el Yerfamey faaay I faaa-

(1) ¥y 1, %99 (19 399 |19
(Z) Ay 1, ey 11w 399 94|

(3 =y 1y, e sy T sy
(4 =g I 37, e FaEn 1 EY)

Options :

92090633925. 1
92090633926. 2
92090633927. 3
92090633928. 4

Question Number : 82 Question Id : 9209068583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y FYgTAfe -
FEg I w1 AT S, WORAT 4 HUTIE e |
Fueg I1 - mefferta; SquiTTEIAIITEET MY SeIRar SITROTHETEEANeE  FEE

gergrentt e

I BYEEE el Yerfamey faaay I faaa-

(1) =99 1, 9= 119 399 =)

(2) e L e I 3
(3) = Ly, e e I sy
(4) 1 ey, fee wyae 11wy

Options :
92090633925. 1



92090633926. 2
92090633927. 3
92090633928. 4

Question Number : 83 Question Id : 9209068584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#Y: FYgIafed -
FHEG L gy sfegoereg e @)
Il - Ty famertprn e )

(1) =y 1, w9 11 9 391 |l

(Z) w1, e 19 3 sy |
(3) =y 1y, e e 1 sy
(4) w1 3y, e wuay 1 =)

Options :

92090633929. 1
92090633930. 2
92090633931. 3
92090633932. 4

Question Number : 83 Question Id : 9209068584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#u: HyTgaafer -

bl & S I U T St
F - oy st e

I FUTETE HATeild eniadedy Ifaaany I faa-

(1)  ®y9 I, % 11 =9 399 |11

(2)  wuE L, w11 T 3T sy
(3) =y 1y, fee e 1T ey
(4) =y | sy, R wuey 1Ty

Options :

92090633929. 1
92090633930. 2
92090633931. 3
92090633932. 4

Question Number : 83 Question Id : 9209068584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m:a:a;:rgaq%_
w0 gy ey o st
F Il - Ty faretror e s

I FETETE Al Neaiadedy raaaad I fHa-

(1) %W 1, e 119 3w |l

(2) T L e 1S S sy
(3)  wuAq 1 ey, g Fem 1L 3y
(4) =y | 3y, R sy 1 |y

Options :

92090633929. 1
92090633930. 2
92090633931. 3
92090633932. 4



Question Number : 84 Question Id : 9209068585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. HyTgaufe -
gl FHR AT TETgETY A
FEIL - AR TelrREE 10,000 T4

9 FUAGTE ATellhA Tetawedy sfaaeay 3w faga-

(1) ¥ 1, %49 11 9 399 |31y
(2)  wuaq 1wy 19 3w sy
(3) w1 ey, e sy 1L sy

(4)  Fuaq 1 3y, g wyae 1 =y

Options :

92090633933. 1
92090633934. 2
92090633935. 3
92090633936. 4

Question Number : 84 Question Id : 9209068585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- wYTEgatE -
gl - FAQUVR T HETqeTy AifE |
FeEgll - STETIIOR TAREEN 10,000 T4

ITdT FUTETE A Fentamery Ifaamey 3 faga-
(1) %4 1, %5 11 5 399 |51y

(2) w1 e 19 3w sy

(3) ey 1wy, e uem 1T 3y

(4 wuq I sy, ey waey 1T e



Options :

92090633933. 1
92090633934. 2
92090633935. 3
92090633936. 4

Question Number : 84 Question Id : 9209068585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3y Hygaufe -
gl FHOTER T TRy, e
FeEg Il TR TATREEN 10,000 T4

I FUAGIE AeldA Tertaweny faaeay I faga-

(1) Y=y I, Y= 11 = 399 1)

(2) wyy 1, w11 = 3vam 3y
(3) =y ey, e e 1T sy

{4) sy [ 3y, e ey 11 =)

Options :

92090633933. 1
92090633934. 2
92090633935. 3
92090633936. 4

Question Number : 85 Question Id : 9209068586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#: Fygaafey -
FEHL i ey wfearg faveafe)

Il Fah sy ==t F@ @i
I BYTEEE el Tenlamedy sfadany I faaa-

(n FY [, 99 119 399 7#1y)

(2) =y [, y=e 11 = 399y Aan|
(3) e Ly, g e I sy
(4) oy I sy, e e 1y

Options :

92090633937. 1
92090633938. 2
92090633939. 3
92090633940. 4

Question Number : 85 Question Id : 9209068586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y. FTEIIE -
FFEEL bl ey wfear faveaf
F Il Fp anidmedafay w=f @ w@fE)

I BYTEEE Al Tenfawmery sfadeny I faaa-

(1) a9 1, %y 119 399 =14

(2) =y [, sy=g 11 = 39aq A
(3)  Fug Iy, g Fem L sy
(4) oy I sy, e e 1y

Options :

92090633937. 1
92090633938. 2
92090633939. 3
92090633940. 4



Question Number : 85 Question Id : 9209068586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y Fy-gaufe -
FEEl FHT Fagy wiear et
Fg Il FHpm anidwmdafavy T=t F@ A

I BYTETE WAl Tenfasery Ifaaany I faaa-

(1) =wy=q 1, =g 119 399 =J1y)

(2)  FY¥q 1, Y 119 399 HEy)
(3) e 1y, foeg e I sy
(4)  wya 1wy, e e 11 )

Options :

92090633937. 1
92090633938. 2
92090633939. 3
92090633940. 4

Question Number : 86 Question Id : 9209068587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y FUFEIE -
Cce i AR O HETGOY | W
FUEg I RO 290 eI ')

I FUEEE WTeA Yeniawery Ihaaeay w faga-
(1)  wuay 1 sy 1= 399 =)
(2) w1 w19 39 AEny)

(3)  wyAq 1wy, fee e 1 )
(4) wyay | 3y, e waeg 11 =y

Options :



92090633941. 1
92090633942. 2
92090633943. 3
92090633944. 4

Question Number : 86 Question Id : 9209068587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y. FYTEIE -
Fgl WO T HETG | wafd)
FeeEg I eI 290 9egTE: wi

YT FUAGA el Ner(dhedy Iraaard o (=240~
(1)  yaq I, Ay 119 399 =y
(z) w1, a1 9 39ay ey

(3 wyEg 1y, e s 1 sy
(4)  wug 1 3y, e Ay L )

Options :

92090633941. 1
92090633942. 2
92090633943. 3
92090633944. 4

Question Number : 86 Question Id : 9209068587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#Y: FY-ggafa -

Fg L SR O] TR 3wl

Fuag I Heeq o 290 e #iE)

I FUAGA A Nentapery Faaany Fw faga-
(1) ==y 1, wuee 11 = 399 =)

(2) w1, A 19 39E )

(30 wyEg 1y, e e 1 sy

(4) =y 1 sy, e e 10 Eny)

Options :

92090633941. 1
92090633942. 2
92090633943. 3
92090633944. 4

Question Number : 87 Question Id : 9209068588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o9 Fygnfe -
w0 TESYAVE ITETE: Yrehedisfd e |
w0 FRGUOE U] HETIY A YEfd|

I FYTETE Al Nenfawery sfaaeny I faa-

(1) =% 1, Y= (19 399 51y
(2) w1, FY 119 39 3|
(3 = 1oy, fee e 1T an

(4) e 1 e, fee wuae 11y
Options :
92090633945. 1
92090633946. 2
92090633947. 3
92090633948. 4



Question Number : 87 Question Id : 9209068588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y FYTEIAE -
Fg L TESED TReEve: Yashedisi wme
s I FETIORE U1 HETOOTy 7 vEfd|

I HUAGTE oA Terieeny shadany I faaa-
(1) =¥ 1, F999 119 335 |J19)

(2) Ay 1, Y [ 9 39 3y

(3) w1y, e e I sy

(4) == [ 37y, e w1 ay)
Options :
92090633945. 1
92090633946. 2
92090633947. 3
92090633948. 4

Question Number : 87 Question Id : 9209068588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y Fygaafe -
FEg L TESEEG IETE: Uehedisfd e |
w1 FRTUORE U] HETY A vaEfd)

I FYIETE WAl Nenfasery Ifaaeny I faaa-
(1) =999 1, wu=m (19 397 =51

(2) =Y 1, sy (19 399y 3E1Y |

(3 = 1oy, Fee e I sy

(4y w1 ey, R sy 11wy
Options :



92090633945. 1
92090633946. 2
92090633947. 3
92090633948. 4

Question Number : 88 Question Id : 9209068589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T
(A) = mEe:

(B) iﬁ&ﬂ:

(C) T

(D)  TTIee:

(By e

wvfefaafassiy adeag g -

(1)  Faem (A), (D), (B)
(2) e (), (D), (E)
(3)  waem (B), (D). (E)

(4) e (B), (C), (D)

Options :

92090633949. 1
92090633950. 2
92090633951. 3
92090633952. 4

Question Number : 88 Question Id : 9209068589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy afemE -

(A)  EmEE:

(B)  wqde:

(C) FoEEe:

(D) e

By iR

weitfefeafreseig i faae -

(1)  aem (A), (D), (E)
(2 %= (C). (D), ()
(3)  FEer (B), (D), (E)
(4)  FEeH (B), (C), (D)

Options :

92090633949. 1
92090633950. 2
92090633951. 3
92090633952. 4

Question Number : 88 Question Id : 9209068589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ioaey qfeTeE=-

(A)  =mEeE:

(B) e

(C) T

(D) TuTTeTEe:

By ==

wenfefgafamay adidgm faga -

(1) e (A), (D), (E)
(2 %= (0), (D), (E)
(8) & (B), (D), (E)
(4)  F=e (B), (C), (D)



Options :

92090633949. 1
92090633950. 2
92090633951. 3
92090633952. 4

Question Number : 89 Question Id : 9209068590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T -
(A)
(B)
()

()

R

(E)
sviferfianfasety wfmm faqa -

(1)  Haerq (A), (B), (D)

(2)  =Raer (A), (B), (C)

(3)  FHaEem (C), (D), (E)

(4)  waed (B), (D), (E)

Options :

92090633953. 1
92090633954. 2
92090633955. 3
92090633956. 4

Question Number : 89 Question Id : 9209068590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TeaTER i -

(a)

B

€ ==

(DY =7t

(E) frm:

suiferfaafmery s faaa -

(1)  Fed (A), (B), (D)
(2) == (A), (B), (O)
(3)  wFem (C), (D), (E)
(4) e (B), (D), (E)

Options :

92090633953. 1
92090633954. 2
92090633955. 3
92090633956. 4

Question Number : 89 Question Id : 9209068590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR i -

(A) D

B F7:

(C) qy:

(D a7t

() Fm:

sferfigataseiy s faam -

(1) == (A), (B), (D)

(2) == (A), (B), (O)

(3) e (C), (D), (E)

(4) e (B), (D), (E)
Options :



92090633953. 1
92090633954. 2
92090633955. 3
92090633956. 4

Question Number : 90 Question Id : 9209068591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT i -

(A) qT=h:

By ==

() fa=e:

(D) e

(E) T

wviferfignfasery adtdgm faqa -

(1)  Haey (A), (B), (0)
(2)  Haey (C), (D), (B)
(3)  Eem (B), (D), (B)

(4)  FEed (A), (C), (E)

Options :

92090633957. 1
92090633958. 2
92090633959. 3
92090633960. 4

Question Number : 90 Question Id : 9209068591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) A
B) =

© fEm=

D)  Fgwe:

(B) o

seitferfaafaseiy wftags fagd -

(1) == (A), (B), (O)
(2) = (C), (D), (E)
(3)  haem (B), (D), (E)
(4)  FHEe (A), (C), (E)

Options :

92090633957. 1
92090633958. 2
92090633959. 3
92090633960. 4

Question Number : 90 Question Id : 9209068591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FeTEETEIY T -

(A) T

B) =

© oz

D) e

(B) @

sniferfigdfeey wfmg fam -

(1) e (A), (B), (O)
(2) e (C), (D), (E)
(3) Faay (B), (D), (E)

(4)  =EEY (A), (C), (E)



Options :

92090633957. 1
92090633958. 2
92090633959. 3
92090633960. 4

Question Number : 91 Question Id : 9209068592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sty Tfevg -
(A)  TEEme

(B)  Hm=rEay

(C) 3%

(D)  woiEy:

(E)  =mEeag

(1)  wae (A), (0), (D)
(2)  waEed (B). (D), (E)

(3) FEem (A, (0), (E)

(4) =@ (C), (D), (E)

Options :

92090633961. 1
92090633962. 2
92090633963. 3
92090633964. 4

Question Number : 91 Question Id : 9209068592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sfersreerny gfomes -

(A)  ToEme:
(B) ey
(Cy 39
Dy oy

(E) oy

(1) e (A), (C), (D)
(2)  haed (B), (D), (E)
(3)  FaEem (A). (), (E)
(4)  wEeM (), (D), (E)

Options :

92090633961. 1
92090633962. 2
92090633963. 3
92090633964. 4

Question Number : 91 Question Id : 9209068592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sfersreerny gfomes -

(A)  ToEme:
(B) ey
(Cy 39
Dy oy

(E) oy

(1) e (A), (C), (D)
(2)  haed (B), (D), (E)
(3)  FaEem (A). (), (E)
(4)  wEeM (), (D), (E)

Options :

92090633961. 1
92090633962. 2
92090633963. 3
92090633964. 4

Question Number : 92 Question Id : 9209068593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wrfrrargny gl -

(A)  wiferergomg

(B)  Ferogm

(C) =Ty

(D) AWy

(E) ey
suifefarfameiy adffgm g -

(1)  F=em (A), (B), (D)
(2)  “aEed (B), (D). (E)

(3)  FEE (0), (D), (E)

(4) ey (B), (C), (D)

Options :

92090633965. 1
92090633966. 2
92090633967. 3
92090633968. 4

Question Number : 92 Question Id : 9209068593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wrfrrargny gl -

(A)  wiferergomg

(B)  Ferogm

(C) =Ty

(D) AWy

(E) ey
suifefarfameiy adffgm g -

(1)  F=em (A), (B), (D)
(2)  “aEed (B), (D). (E)

(3)  FEE (0), (D), (E)

(4) ey (B), (C), (D)

Options :

92090633965. 1
92090633966. 2
92090633967. 3
92090633968. 4

Question Number : 92 Question Id : 9209068593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wrfrrargny gl -

(A)  wiferergomg

(B)  Ferogm

(C) =Ty

(D) AWy

(E) ey
suifefarfameiy adffgm g -

(1)  F=em (A), (B), (D)
(2)  “aEed (B), (D). (E)

(3)  FEE (0), (D), (E)

(4) ey (B), (C), (D)

Options :

92090633965. 1
92090633966. 2
92090633967. 3
92090633968. 4

Question Number : 93 Question Id : 9209068594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeepmEn fesamaany afova= -

(A) AT

(B) fEE:

(c)y m:

(Dy  =rE:

(E) =am:
weniferfigafaseiy wfiag faqe -

(1) == (A), (B), (O)
(2)  =Eer (B), (C), (D)
(3)  aer (A), (B), (D)
(4)  =Fem (0), (D), (E)

Options :

92090633969. 1
92090633970. 2
92090633971. 3
92090633972. 4

Question Number : 93 Question Id : 9209068594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
weeggnET fsmEany sfervrs -

(A)  FREM:

(B) fEE:

(cy m:

(Dy =

(E) =am:

weiferfigafaseny wfieag faga -

(1) e (A), (B), (C)
(2) I (B), (C), (D)
(3)  saer (A), (B), (D)
(4)  FHaem (C), (D), (E)

Options :



92090633969. 1
92090633970. 2
92090633971. 3
92090633972. 4

Question Number : 93 Question Id : 9209068594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HreagroER fsamaany wfeva -

(A)  FEFET:

(B) e

(C) M

(D) 9rHA:

() =4

wutferfignfaseny st faaa -

(1) ==y (A), (B), (O)
(2)  Hawy (B), (C), (D)
(3)  whaem (A), (B), (D)

(4) e (C), (D), (E)

Options :

92090633969. 1
92090633970. 2
92090633971. 3
92090633972. 4

Question Number : 94 Question Id : 9209068595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR HerenE aftar fawn afF-

(A) e e

(B)  HATReAEEg

(C) e

(D) TETESH

(E) oig=meem

s ferfigataseiy st fa -

(1) Fe (A), (B), (E)
()  FEd (A), (B), (O)
(3  @Eerm (B), (C), (D)
(4)  F=er (C). (D), (B)
Options :
92090633973. 1
92090633974. 2

92090633975. 3
92090633976. 4

Question Number : 94 Question Id : 9209068595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR HerenE aftar fawn afF-

(A) e e

(B)  HATReAEEg

(C) e

(D) TETESH

(E) oig=meem

s ferfigataseiy st fa -

()  Fem (A), (B), (E)
(2) ==y (A), (B), (O)
(3)  ==ed (B), (C), (D)
(1)  FEe (C), (D), (B)

Options :
92090633973. 1



92090633974. 2
92090633975. 3
92090633976. 4

Question Number : 94 Question Id : 9209068595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR Harhmg afia: e wfE-

(A = i
(B)  HAufiehaiaeaaT

(C)  Hireg

D)  IETETEEH

(E)  oig=hrgey
suiferfEafarery s faa -

(1) Fa (A), (B), (E)
(2)  =Hae (A), (B), (O)
(3) e (B), (C), (D)

(4)  =er (0). (D), (B)
Options :
92090633973. 1
92090633974. 2
92090633975. 3
92090633976. 4

Question Number : 95 Question Id : 9209068596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt [ we get 11 wen gyfad gerga -

il gt 11
(A) =g (Iy  =hroamE
(B) IFgIe: (1) Sogerresman
(C) TR (ITT) AeFeramE
(D) sAxsde: (IV) T
svitfefiaafareiy aqfaag faqa -

(1) (A)-(IID), (B)-(D), (C)-(IV), (D)-(11)
@ (A)-(L), (B)-(L), (C)-(LIT), (D)-(IV)
(3) (A)-(IV), (B)-(11), (C)-(111), (D)-(I)
(4) (A)-(IV), (B)-(I1T), (C)-(I1), (D)-(D)

Options :

92090633977. 1
92090633978. 2
92090633979. 3
92090633980. 4

Question Number : 95 Question Id : 9209068596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1w =t 11 o sgfed gega -

il gt 11
(A) e (Iy =v=smE
(B) Eegade: (II) Sogefresma
(C) = (I11) ‘=resperamen
(D) Audde: (V) TerE-iEamE
wenfefiaafameiy aqfeagm fagm -

(1) (A)-(III), (B)-(D, (C)-(IV), (D)-(1T)
(2) (A)-(D), (BY-(LI), (C)-(1IT), (D)-(IV)
(3) (A)-(IV), (B)-(11), (C)-(111), (D)-(I)
(4) (A)-(IV), (B)-(I1L), (C)-(ID), (D)-(I)

Options :

92090633977. 1
92090633978. 2
92090633979. 3
92090633980. 4



Question Number : 95 Question Id : 9209068596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1 78 5=t 11 woR sgfad oo -

gt 1 H=t 11
(A) e () Frv=amE
(B) YEeEaae: (I1)  Sogemeamat
(C) TmEe: (111) SreperameE
(D) AxEdE: (V) TurEigmE
wefefiaafameiy agfegm fagm -

(1 (A)-(ID), (B)-(D), (C)-(IV), (D)-(1T)
(2 (A)-(D), (B)-(ILD), (C)-(L1I), (D)-(IV)
@ A0V, (B)-(ID), (C)-(I1D), (D)-(D)
(4 (A)-(IV), (B)-(ILD), (C)-(ID), (D)-(D)

Options :

92090633977. 1
92090633978. 2
92090633979. 3
92090633980. 4

Question Number : 96 Question Id : 9209068597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 17 = 11 v syfee e -
Gl 7t 11
(A) B (I) =g =@y
By Fren (I) 5= ret
(Cy Frewm (I11) === gEy
(D) =TT (IV) eeq g,
snfeifigafameiy aqfaagai fma -

(1) (A)-(1), (B)-(11D), (C)-(11), (I)-(IV)
(2) (A)-(ID), (B)-(IV), (C)-(1). (D)-(11D)
(3) (A)-(IV), (B)-(11), (C)-(111), (D)-(D)
(4 (A)-(IID, (B)-(I), (C)-(IV), (I)-(11)

Options :

92090633981. 1

92090633982. 2

92090633983. 3



92090633984. 4

Question Number : 96 Question Id : 9209068597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 9 g 11 v agfad feda -
Gl et 11
(A o= (I) =g =@y
By Fren (IT) === gt
() Feey (I11) ===3 qaEy
(D) ST (IV) =ge g
wuffgatasen agfaag faga -

(1) (A)-(D), (B)-(IID), (C)-(1D), (D)-(IV)
(2) (A)-(1D), (B)-(IV), (C)=(I), (D)-(11D)
(3) (A)-(IV), (B)-(IT), (C)-(I1L), (D)-(T)
(1) (A)=(IID), (B)-(I). (C)=(IV), (D)-(LI)

Options :

92090633981. 1

92090633982. 2

92090633983. 3

92090633984. 4

Question Number : 96 Question Id : 9209068597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 9 g= 11 voen agfad e -
H= = 11
(A) B (I) =g =@y
(B) e (I) 5= ret
(Cy Frewm (I11) === gEy
(D) =TT (IV) eeq g,
snfeifigafameiy aqfaagai fma -

(1) (A)-(1), (B)-(1ID), (C)-(1L), (D)-(IV)
(2) (A)-(I1), (B)-(IV), (C)-(T), (D)-(I1T)
(3) (A)-(IV), (B)-(11), (C)-(11D), (D)-(I)
(4) (A)-(II), (B)-(I), (C)-(IV), (D)-(11)

Options :
92090633981. 1



92090633982. 2
92090633983. 3
92090633984. 4

Question Number : 97 Question Id : 9209068598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt [\ =i 1 woR agfed degd -
Tt 1 Tt 11
(A) =eEH (h  Forem =g
(B) == (I) +4 155
(C) mam (1) et et
(D) I (IV) &l 78594
surferfigafasey ayfaags e -
(1) (A)-(IIT), (B)-(IV), (C)-(I). (D)-(IT)
(2) (A)-(ID), (B)-(T), (C)-(TIL), (D)-(IV)
(2 (A)-(D), (B)-(IV), (C)-(IT), (D)-(11T)
(4) (A)-(IV), (B)-(T), (C)-(IT), (D)-(I1T)
Options :

92090633985. 1
92090633986. 2
92090633987. 3
92090633988. 4

Question Number : 97 Question Id : 9209068598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt [ e gt 11 e agfad e -

g1 1 1 11
(A) @A () foem
(B) =FH (1) *9 1&g
© 7o (D) el e
(D) T (IV) sl 780w |
suifefaafasety agfaags g -

(1) (A)-(LIT), (B)-(IV), (C)-(I), (D)-(IT)
(2) (A)-(IT), (B)~(I), (C)-(11L), (D)-(IV)
(3) (A)-(L), (B)-(IV), (C)-(1I), (D)-(11T)
(4) (A)-(IV), (B)-(I), (C)-(1D), (D)-(I11)

Options :

92090633985. 1
92090633986. 2
92090633987. 3
92090633988. 4

Question Number : 97 Question Id : 9209068598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt [ o gt 11 e agfed e -
gt 1 Tt 11
(A) ®oR () forem wm
(B) e (I =4 vem
(C) wam (M) et &0
(D) g (IV) ol & |

(1) (A, (B)-(IV), (C)-(D), (D)-(ID)
2 (A, (B)-(I), (C)-(III), (D)-(IV)
(3 (A)-(D), (B)-(IV), (C)-(11), (D)-(ILT)
(4) (A)-(IV), (B)-(I), (C)-(IL), (IM-(111)

Options :

92090633985. 1
92090633986. 2
92090633987. 3
92090633988. 4



Question Number : 98 Question Id : 9209068599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et [ 5 gt 11 e wmfad demm -

et 1 Tt I
(A) fead %a degata (I) ¥ ¥ g =6q,
(B) 3EHEA et (1) 3 T g6 =5
(C) @ =9y qepalq (IIT) = =i: q@ o
(D) FE=sAEA degaia (IV) ¥ 93: 5@ 98
seiferfamfasedy Fafemgm faga -

(1) (AY-(ID, (B)-(1LL), (C)-(IV), (D)-(1)
(2) (A)-(TLI), (B)-(IV), (C)-(IL), (I0-(1)
(3) {A)-(IV), (B)-(I), (C)-(1D), (D)-(L1T)
(4) (A)-(D), (B)-(ILL), (C)-(ID), {(D)-(IV)

Options :

92090633989. 1
92090633990. 2
92090633991. 3
92090633992. 4

Question Number : 98 Question Id : 9209068599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et | we w11 woew wfad de -

gt | il
(A) fem@ 9o aepai (I) % ¥ g@ F8q
(B) 3OS depatd (I) 9 = 56 F5
(C) 9o aafs aepaf (IIT) =7 =i: q@ T4
(D) AT depaia (IV) ¥ 93: 56 94
setferfmtasedy FefEmm foga -

(1) (A)-(11), (B)-(ILL), (C)-(IV), (D)-(1)
(2) (A)-(LLD), (B)-(IV), (C)-(IL), (I0-(1)
(3 {AN-(IV), (B)-(D), (Cy-(1Dy, (D)-(111)
(4) (A1), (B)-(IIL), (C)-(11), (D)-(IV)

Options :



92090633989. 1
92090633990. 2
92090633991. 3
92090633992. 4

Question Number : 98 Question Id : 9209068599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qeft 1 5 gt 11 weert wqfd ferd -

el gt 11
(A) fead fa aepata () 4 ¥ g6 =89
(B) ¥EAMER depai (I) &9 6 g6 6,
(C) 9o aafs aepaf (IIT) =7 =i: q@ T4
(D) FrE=stE drpai (IV) ¥ 93: 56 94
sferfafasrery wgfege foga -

(1) (A)-(11), (B)-(ILL), (C)-(IV), (D)-(1)
(2) (A)-(LLL), (B)-(IW), (C)-(11), (D)-(1)
(3 {AN-(IV), (B)-(D), (Cy-(1Dy, (D)-(111)
(4) (A)-(D, (B)-(ILL), (C)-(ID), (D)-(IV)

Options :

92090633989. 1
92090633990. 2
92090633991. 3
92090633992. 4

Question Number : 99 Question Id : 9209068600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ot 15 g 11 et wmfr e -

Tt 1 T 11
Ay fa (0 e
(B) WU (I i =
(C) = (IID)  wr=vem 2f=
(D) =W (V) =4 &=
sniifefigafaseiy aafaar faqa -

(1) (A)-(T), (B)-(IIL), (C)-(11), (D)-(IV})
2 (A-ID, (B)-(IV), (C)-(1), (D)-(11I)
3 AV, (B)-(D, (C)-(11), (D)-(I1Ly
(4 (A=, (B)-(), (C)-(ID), (D)-(IV)

Options :

92090633993. 1
92090633994. 2
92090633995. 3
92090633996. 4

Question Number : 99 Question Id : 9209068600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1 He =t 11 e |gied gerda -
gt 1 gt 11
Ay B (I ==
(B) T (I i ==
(C) =m (IIT) F=em 2
(D) H=ER: avy ===
wenfefigafaraiy agfemg fagm -

(1) (A, (B)-(IID), (C)-(IT), (D)-(IV)
2y (A-ID, (B)-(IV), (C)-(1), (D)-(11D)
(@ (A)-(IV), (B)-(I), (C)-(11), (D)-(I1T)
(4) (A, (B)-(D), (C)-(II), (D)-(IV)

Options :

92090633993. 1
92090633994. 2
92090633995. 3
92090633996. 4



Question Number : 99 Question Id : 9209068600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1 He =t 1 e |y Jerda -
T 1 Tt 11
Ay M H4EH
(B) T (I =i =f=
(C) &= (1) st =f=
(D) = (avy 4 ==
wenfefigafameiy agfamg fagm -

(1) (AT}, (B)-(IIL), (C)-(IT), (D)-(IV)
(Z) (A)-(IT), (By-(IV), (C)=(I), (D)y-(T1I)
(3) (A)-(IV), (B)-(D), (C)-(1T), (D)-{11I)
(4) (A)-(IID), (B)-(I), (C)-(I1), (D)-{IV)

Options :

92090633993. 1
92090633994. 2
92090633995. 3
92090633996. 4

Question Number : 100 Question Id : 9209068601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H=t 15 = 11 wos wgfan dergq -

gt 1 gt 11
(A) = (1) =iy sfaf
(B) fafrem: (I) wEy siraf
(C) =Tt (1) W Sfraf=
(D) ofoEa: (IV) Zommg e
siffgataseiy safam fam -

(1) (A)-(IT), (B)-(T), (C)-(LIT), (D)-(IV)
(2) (A)-(IV), (B)-(11}), (C)-(111Y, (123-(1)
(3 (A)-(LL), (B)-(D), (C)-(IV), (D)-(1)
(4) (A)-(1), (B)-(IV), (C)-(1I), (D)-(I1I)

Options :
92090633997. 1
92090633998. 2



92090633999. 3
92090634000. 4

Question Number : 100 Question Id : 9209068601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 e g= 11 v s dead -

T 1 =t 11
(A) = () =iy sfafa
(B) fafrme: (I ey sraf
(C) =Tt (1) wo Sfraf=
(D) wfvzam: (IV) Zammy St
wniferfigafrrey afeag o -

(1) (AT, (B)=(D), (C)=(LII), (D)-(IV)
(2) (A)-(IV), (B)-(L1), (C)-(L1L), (1)-(1)
(3) (AL, (B)-(I), (C)-(IV), (D)-(IT)
(4) (A0, (B)-(IV), (O)-(ID), (D)-(I1I)

Options :

92090633997. 1
92090633998. 2
92090633999. 3
92090634000. 4

Question Number : 100 Question Id : 9209068601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 w7 gt 11 woer agfed fema -

e 1 T 11
(A) = () =iy Safa
(B) fafermm: (I mEy sfafa
(C) T (I o Sfaf=
(D) feE: (IV) ==y Haf
sefferfgafasery wfamg foga -

(1) (A)-(IT), (B)-(T), (C)-(IIL), (D)-(IV)
(2) {A)-(1V), (B)-(11), (C)-(L1D), (D)-(1)
(3 {(A)-(11I), (B)-(I), (C)-(IV), (D)~(1L)
(4) (A)-(I), (B)-(IV), (C)-(II), (D)-(I1T)

Options :

92090633997. 1
92090633998. 2
92090633999. 3
92090634000. 4



